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SET – 3 

       -    15   

 -            -  -    

       -  24    

         ,       

  -     15        -     10.15  
   10.15   10.30     -         
-       
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 Code number given on the right hand side of the question paper should be written on the 
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 15 minute time has been allotted to read this question paper. The question paper will be 
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 
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  : 

 (i)         

 (ii)            

 (iii)   1 – 4   13 – 16    ,    1     
           

 (iv)   5 – 6  17 – 18   ,    3       
 60        

 (v)   7 – 9  19 – 21    ,    4      
  70        

(vi)   10 – 12  22 – 24    ,    6      
  100         

(vii)                   
   

 

General Instructions :   

 (i) All questions in both the sections are compulsory. 

 (ii) Marks for questions are indicated against each question. 

 (iii) Question Nos. 1 – 4 and 13 – 16 are very short-answer questions carrying                 

1 mark each. They are required to be answered in one sentence each. 

 (iv) Question Nos. 5 – 6 and 17 – 18 are short-answer questions carrying 3 marks each. 

Answers to them should normally not exceed 60 words each. 

 (v) Question Nos. 7 – 9 and 19 – 21 are also short-answer questions carrying                    

4 marks each. Answers to them should normally not exceed 70 words each.  

  (vi) Question Nos. 10 – 12 and 22 – 24 are long-answer questions carrying 6 marks 

each. Answers to them should normally not exceed 100 words each. 

 (vii) Answers should be brief and to the point and the above word limits should be 

adhered to as far as possible. 
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 –  ( )
SECTION – A (Micro Economics) 

 

1. -  ,    ________   (    ) 1 

 () ‘S’    

 ()  ‘S’    

 () ‘U’    

 ()  ‘U’     

 The average product curve in the input-output plane, will be __________. (Choose 

the correct alternative) 

 (a) an ‘S’ shaped curve 

 (b) an inverse ‘S’ shaped curve 

 (c) a ‘U’ shaped curve  

 (d) an inverse ‘U’ shaped curve 

 

2.   X          ,     ________  

(    ) 1 

 

   X              ,   

  ________  (    ) 

 If the market supply of a commodity X changes due to improvement in technology, 

the market supply curve will ________. (Fill up the blank) 

OR 

 If the market supply of a commodity X changes due to rise in price of a factor input, 

the market supply curve will ________. (Fill up the blank) 
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3.    ,      A   B    ________    

(    ) 1 

 

 ()        

 ()      

 ()  X      Y     

 ()  Y      X     

 In the given figure, the movement on the production possibility curve from point A to 

point B shows ________. (Choose the correct alternative) 

 

 (a) Growth of all the resources in the economy. 

 (b) Underutilisation of resources. 

 (c) Production of more units of Good  X and less units of Good Y. 

 (d) Production of more units of Good Y and less units of Good X. 
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4.     ________ (    )  1 

 () X-        

 () Y-        

 ()  ,         

 ()  ,         

                     

                ? (    

) 

 () MCN = TFCn – TFCN – 1 

 () MCN = ACN – ACN – 1 

 () MCN = AVCN – AVCn – 1 

 () MCN = TCn – TCN – 1 

 Average fixed cost curve ________. (Choose the correct alternative) 

 (a) is a straight line parallel to X-axis. 

 (b) is straight line parallel to Y-axis. 

 (c) falls, as more units are produced 

 (d) rises, as more units are produced 

              OR 

 Which of the following formula is correct for calculating marginal cost ?  

      (Choose the correct alternative) 

 (a) MCN = TFCn – TFCN – 1 

 (b) MCN = ACN – ACN – 1 

 (c) MCN = AVCN – AVCn – 1 

 (d) MCN = TCn – TCN – 1 
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5.  X   Y       X      ,   Y    
           3 

 

         ,    ,  X       
        

 Good X and Good Y are complementary goods. If price of Good X increases, discuss 
briefly its likely impact on the demand for Good Y. 

OR 

 If the income of a consumer increases, discuss briefly its likely impact on the demand 
for a normal good, Good X. 

 

6.               
     3 

 (i) “        23      77   
 ,        ”  – The Economic Times 

 (ii) “           ” – The Economic 

Times 
 Identify and discuss the nature of the following newspaper reports in terms of positive 

or normative economic analysis : 

 (i) “India jumped 23 points in the World Bank’s ease of doing business index to 

77th place, highest in 2 years.” – The Economic Times 

 (ii) “Government should further liberalise the business rules.” – The Economic 

Times 

  

7. -        4 

     

    ,           

 Explain the law of equi-marginal utility. 

          OR 

 State and discuss the conditions of consumer’s equilibrium under ordinal approach. 
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8.        4 

 ( ) 0 1 2 3 4 

  (` ) 200 ..... ..... ..... 490 

   (` ) 0 ..... 180 ..... ..... 

   (` ) – 100 ..... 80 ..... 

 Complete the following cost schedule : 

Quantity (in Units) 0 1 2 3 4 

Total cost (in `) 200 ..... ..... ..... 490 

Total variable cost (in `) 0 ..... 180 ..... ..... 

Average variable cost (in `) – 100 ..... 80 ..... 

 

9.    , OP      OP1          

 

 ()     ,          

  

 ()            (1, 3) 

 

          X          

   Qd = 1700 – 2P 

   Qs = 1300 + 3P 

  X           
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 In the given diagram, OP is the market determined price and OP1 is the price fixed by 

the government. 

     

 (a) Identify if the diagram represents, price ceiling or price flooring. 

 (b) Discuss the likely behaviour of the market in the given condition. 

OR 

 Suppose the demand and supply equations of a commodity X in a perfectly 

competitive market are given by : 

   Qd = 1700 – 2P 

   Qs = 1300 + 3P 

 Calculate the value of equilibrium price and equilibrium quantity of the commodity X. 

  

10.            6 
                    
               
 ()    
 ()    
 ()   
 Elaborate three main features of monopolistic competition form of market. 

OR 
 Distinguish between perfect competition and monopolistic competition on the basis 

of the following : 
 (a) Number of sellers 
 (b) Nature of product 
 (c) Selling cost  
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11. ()          

 ()      40%      150     120    
  X            (2, 4) 

 (a) Define price elasticity of demand. 

 (b) If the price of a commodity rises by 40% and its quantity demanded falls from 
150 units to 120 units, calculate coefficient of price elasticity of demand for the 
commodity. 

 

12. “   ”     ?           
      6 

 What is meant by “diminishing returns to a factor” ? Discuss any two reasons for the 
operation of diminishing returns to a factor. 

 

       –  ( )

      SECTION – B (Macro Economics) 
 

13.       ,    ` 5,000     ` 6,000 
     ,   ` 4,000     ` 4,600      
        ________   (    )  1 

 () 0.8 

 () 0.4 

 () 0.2  

 () 0.6 

 Suppose in a hypothetical economy, the income rises from ` 5,000 crores to ` 6,000 

crores. As a result, the consumption expenditure rises from ` 4,000 crores to ` 4,600 
crores. Marginal propensity to consume in such a case would be ________. (Choose 
the correct alternative) 

 (a) 0.8 

 (b) 0.4 

 (c) 0.2 

 (d) 0.6 
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14.       ?  1 

           

       ? 

 What is meant by primary deficit ? 

               OR 

 What is meant by fiscal deficit ? 

 

15.            1  

 Give any two examples of flow concept. 

 

16. ‘’       1 

 Define the term ‘tax’. 

 

17.                   

            3 

 

 “   (GDP)             ”  

             

 Define the problem of double counting in the computation of national income. State 

any two approaches to correct the problem of double counting. 

OR 

 “Gross Domestic Product (GDP) does not give us a clear indication of economic 

welfare of a country.” Defend or refute the given statement with valid reason. 
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18.       3 

       (I) = ` 1,200  

     (MPS) = 0.2 ,  

       

 ()   (k) 

 ()     (Y) 

  If in an economy : 

  Change in initial Investment (I) = ` 1,200 crores 

  Marginal Propensity to Save (MPS) = 0.2 

 Find the values of : 

 (a) Investment Multiplier (k) 

 (b) Change in final income (Y) 

 

19. -              4 

                             

     ‘KT’      ?         

      
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 State and discuss the components of Aggregate Demand in a two sector economy. 

OR 

 In the given figure, what does the gap ‘KT’ represent ? State any two fiscal measures 

to correct the situation. 

 

  

      

       ?          

       4 

 For Blind Candidates : 

 What is meant by deflationary gap ? State any two fiscal measures to correct the 

situation of deflationary gap. 

 

20.             4 

 ()           

 ()  (Ex-Ante)      (Ex-Ante)     

 Discuss the working of the adjustment mechanism in the following situations : 

 (a) Aggregate demand is greater than Aggregate supply. 

 (b) Ex Ante Investments are lesser than Ex Ante Savings. 
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21. ()     -      ?      

 ()              (3, 1)  

 (a) How are tax receipts different from non-tax receipts ? Discuss briefly. 

 (b) State any two items of revenue expenditure in a Government budget. 

 

22.      , ‘   ’  ‘  ’      6 

 .  
 

( ` ) 

(i)     3,500 

(ii)    300 

(iii)    ? 

(iv)     14,000 

(v)   3,000 

(vi)     300 

(vii)       700 

(viii)   12,000 

(ix)   30,000 

(x)  500 

(xi)     ? 

(xii)     11,000 
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 Given the following data, find the missing values of ‘Gross Domestic Capital 

Formation’ and ‘Wages and Salaries’. 

S. No. Particulars 
Amount  

(in Cr. `) 

(i) Mixed Income of Self Employed 3,500 

(ii) Net Indirect Taxes 300 

(iii) Wages & Salaries ? 

(iv) Government Final Consumption Expenditure 14,000 

(v) Net Exports 3,000 

(vi) Consumption of Fixed Capital 300 

(vii) Net Factor Income from Abroad 700 

(viii) Operating Surplus 12,000 

(ix) National Income 30,000 

(x) Profits 500 

(xi) Gross Domestic Capital Formation ? 

(xii) Private Final Consumption Expenditure 11,000 

 

23. ()    M1            

 ()    ,              

    (2, 4) 

            

                   

 ,      6 

 (a) State any two components of M1 measure of money supply. 

 (b) Elaborate any two instruments of Credit Control, as exercised by the Reserve 

Bank of India. 

OR 

 Define Credit Multiplier. What role does it play in determining the credit creation 

power of the banking system ? Use a numerical illustration to explain. 
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24. () “ ”      “   ”      ?  

 () “  ($)     (`)       ` 74.48  

”   – The Economic Times 

        ,           

    (3, 3) 

 (a) Define “Trade surplus”. How is it different from “Current account surplus” ? 

 (b) “Indian Rupee (`) plunged to all time low of ` 74.48 against the US Dollar ($)”. 

     – The Economic Times 

  In the light of the above report, discuss the impact of the situation on Indian 

Imports. 

__________ 
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gm_mÝ` {ZX}e : 

(i) XmoZm| IÊS>m| Ho$ g^r àíZ A{Zdm`© h¢ & 

(ii) àË`oH$ àíZ Ho$ {ZYm©[aV A§H$ CgHo$ gm_Zo {XE JE h¢ & 

(iii) àíZ g§»`m 1 – 4 VWm 13 – 16 A{V bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ H$m 1 A§H$ h¡ & 
BZH$m àË`oH$ H$m CÎma EH$ dmŠ` _| hr Ano{jV h¡ &   

(iv) àíZ g§»`m 5 – 6 Am¡a 17 – 18 bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 3 A§H$ h¢ & 
àË`oH$ H$m CÎma gm_mÝ`V… 60 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(v) àíZ g§»`m 7 – 9 Am¡a 19 – 21 ^r bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 4 A§H$ h¢ & 
àË`oH$ H$m CÎma gm_mÝ`V… 70 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vi) àíZ g§»`m  10 – 12  Am¡a  22 – 24 XrK© CÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 6 A§H$ 
h¢ & àË`oH$ H$m CÎma gm_mÝ`V… 100 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vii) CÎma g§{jßV VWm VÏ`mË_H$ hmoZo Mm{hE VWm `Wmg§^d D$na Xr JB© eãX gr_m Ho$ A§VJ©V 
hr {XE OmZo Mm{hE & 

 

General Instructions : 

(i) All questions in both the sections are compulsory. 

(ii) Marks for questions are indicated against each question. 

(iii) Question Nos. 1 – 4 and 13 – 16 are very short-answer questions carrying 

1 mark each. They are required to be answered in one sentence each. 

(iv) Question Nos.  5 – 6  and  17 – 18  are  short-answer questions carrying  

3 marks each. Answers to them should normally not exceed 60 words 

each. 

(v) Question Nos. 7 – 9 and 19 – 21 are also short-answer questions carrying 

4 marks each.  Answers  to  them  should  normally  not  exceed 70 words 

each.  

(vi) Question  Nos.  10 – 12 and 22 – 24  are  long-answer  questions  

carrying 6 marks each. Answers to them should normally not exceed  

100 words each. 

(vii) Answers should be brief and to the point and the above word limits 

should be adhered to as far as possible. 
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IÊS> A 

(ì`{îQ> AW©emñÌ) 

SECTION A 

(MICROECONOMICS) 

1. {XE JE {MÌ ‘| dñVw X VWm dñVw Y Ho$ {bE, X1Y1 VWm X2Y2 H«$‘e:, Xmo {d{^Þ 

g‘¶md{Y T1 VWm T2 ‘|, CËnmXZ g§^mdZm dH«$ h¢ & XmoZm| g_` Ad{Y`m| _| A1 Am¡a A2 

dmñV{dH$ CËnmXZ VWm P1 Am¡a P2 g§^m{dV CËnmXZ H$mo H«$_e: àX{e©V H$aVo h¢ &  

 
 

 dñVwAm| X Am¡a Y Ho$ dmñV{dH$ CËnmXZ ‘|, XmoZm| g‘¶ Ad{Y¶m| ‘|, n[adV©Z _________ 

{IgH$md Ûmam àX{e©V hmoJm & ([aº$ ñWmZ H$s ny{V© H$s{OE) 1 

(H$) A2 go P2 (I) A1 go P2 

(J) P1 go A2 (K) A1 go A2 

 
AWdm 

 

 n[adV©Z H$s gr‘m§V Xa (MRT) pñWa h¡ & Eogr pñW{V ‘| ~ZZo dmbm CËnmXZ g§^mdZm dH«$ 

‘yb-q~Xþ _________ hmoJm & ([aº$ ñWmZ H$s ny{V© H$s{OE)  1 
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In the given figure X1Y1 and X2Y2 are Production Possibility Curves in 

two different periods T1 and T2 respectively for Good X and Good Y.  

A1 and A2 represent actual outputs and P1 and P2 represent potential 

outputs respectively in the two time periods.   

 

The change in actual output of Goods X and Y over the two periods 

would be represented by movement from _________ . (Fill up the blank) 

(a) A2 to P2 (b) A1 to P2 

(c) P1 to A2 (d) A1 to A2 

OR 

The Marginal Rate of Transformation (MRT) is constant. The Production 

Possibility Curve, so formed, would be __________________ to the origin. 

                                                                                 (Fill up the blank) 

2. ¶{X ny{V© dH«$ D$Üdm©Ya Aj (Y-Aj) Ho$ g‘m§Va EH$ grYr aoIm h¡, Vmo dñVw H$s ny{V© 

_________ H$hbmVr h¡ & ([aº$ ñWmZ H$s ny{V© H$s{OE) 1 

(H$) BH$mB© Ho$ ~am~a bmoMXma ny{V© 

(I) nyU©V: bmoMXma ny{V© 

(J) nyU©V: ~obmoMXma ny{V© 

(K) nyU©V: bmoMXma ‘m±J 
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If the supply curve is a straight line parallel to the vertical axis (Y-axis), 

supply of the good is called as _________. (Fill up the blank) 

(a) Unitary Elastic Supply 

(b) Perfectly Elastic Supply 

(c) Perfectly Inelastic Supply 

(d) Perfectly Elastic Demand 

3. AnyU© à{V¶mo{JVm Ho$ A§VJ©V, Am¡gV g§àm{ßV (AR), gr‘m§V g§àm{ßV (MR)  _________ 

hmoVr h¡ & ([aº$ ñWmZ H$s ny{V© H$s{OE) 1 

AWdm 

 ‘‘g§VwbZ _| EH$ \$_© Ho$ {bE gr_m§V g§àm{ßV (MR) VWm gr_m§V bmJV (MC) 

__________ hmoZr Mm{hE VWm Cg CËnmXZ ñVa Ho$ ~mX gr_m§V bmJV __________ hmoZr 
Mm{hE &’’ ([aº$ ñWmZ H$s ny{V© H$s{OE)  1 

Under imperfect competition, Average Revenue (AR) remains _________ 

Marginal Revenue (MR). (Fill up the blank)  

OR 

‘‘For a firm to be in equilibrium, Marginal Revenue (MR) and Marginal 

Cost (MC) must be _________ and beyond that level of output Marginal 

Cost must be _________.’’ (Fill up the blank) 

4. 20 BH$mB¶m± {dH«$¶ H$aZo na Hw$b g§àm{ßV < 700 A{O©V hmoVr h¡ & 21dt BH$mB© H$mo {dH«$¶ 
H$aZo go < 70 H$s gr‘m§V g§àm{ßV A{O©V hmoVr h¡ & Hw$b 21 BH$mB¶m± {dH«$¶ H$aZo na 
A{O©V Hw$b g§àm{ßV H$m ‘yë¶ _________ hmoJm & (ghr {dH$ën H$m M`Z H$s{OE) 1 

(H$) < 721 (I) < 630 
(J) < 770 (K) < 720 

The Total Revenue earned by selling 20 units is < 700. Marginal 

Revenue earned by selling 21st unit is < 70 . The value of Total Revenue 

earned by selling total 21 units will be ____________. (Choose the correct 

alternative) 

(a) < 721 (b) < 630 

(c) < 770 (d) < 720 
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5. AmXe©H$ AW©emñÌ H$s AdYmaUm H$mo Cn`wº$ CXmhaU g{hV g§jon _| MMm© H$s{OE & 3 

Discuss briefly the concept of normative economics, with suitable 

example. 

6. EH$ H$mën{ZH$ AZwgyMr H$s ghm`Vm go gr‘m§V Cn¶mo{JVm õmg {Z¶‘ H$s ì`m»`m  

H$s{OE & 3 

AWdm 

EH$ H$mën{ZH$ AZwgyMr H$s ghm`Vm go _m±J Ho$ {Z`_ H$s ì`m»`m H$s{OE &  3 
Explain the law of diminishing marginal utility, with the help of a 

hypothetical schedule. 

OR 

Elaborate the law of demand, with the help of a hypothetical schedule. 

7. {ZåZ{b{IV ‘| go H$m¡Z-go H$WZ ghr  ¶m µJbV  h¢ ? AnZo CÎma Ho$ g‘W©Z ‘| Cn¶w³V 

H$maU Xr{OE & 4 

(H$) Am¡gV bmJV dH«$, Am¡gV n[adVu bmJV dH«$ H$mo CgHo$ Ý¶yZV‘ ñVa na H$mQ>Vm  

h¡ & 

(I) Am¡gV CËnmX dH«$ VWm gr‘m§V CËnmX dH«$ ‘U-AmH$ma’ Ho$ dH«$ hmoVo h¢ &  

(J) g^r ~mµOma n[apñW{V¶m| ‘|, Am¡gV g§àm{ßV VWm gr‘m§V g§àm{ßV ~am~a hmoVo h¢ & 

(K) Hw$b bmJV dH«$ VWm Hw$b n[adVu bmJV dH«$ EH$-Xÿgao Ho$ g‘m§Va hmoVo h¢ & 

AWdm 

EH$ H$mën{ZH$ AZwgyMr H$m à`moJ H$aVo hþE, EH$ nyU© à{V`moJr \$_© Ho$ g§VwbZ H$s ì`m»`m 

H$s{OE &  4 

Which of the following statements are true or false ? Give valid reasons 

in support of your answer. 

(a) Average cost curve cuts Average variable cost curve, at its 

minimum level. 

(b) Average product curve and Marginal product curve are  

‘U-shaped’ curves. 
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(c) Under all market conditions, Average revenue and Marginal 

revenue are equal to each other. 

(d) Total cost curve and Total variable cost curve are parallel to each 

other. 

OR 

Explain a firm’s equilibrium under perfect competition, using a 

hypothetical schedule.  

 

8. (H$) dñVw X H$s ‘m±J H$s H$s‘V bmoM H$m JwUm§H$ (–) 0.2 h¡ & ¶{X dñVw H$s H$s‘V ‘| 
5% H$s d¥{Õ hmoVr h¡, Vmo dñVw H$s ‘m±Jr JB© ‘mÌm {H$VZo à{VeV go H$‘ hmoJr ?  

(I) {ZåZ{b{IV ‘m±J H$s H$s‘V bmoM Ho$ JwUm§H$m| H$mo ~‹T>Vo hþE (Amamohr) H«$‘ ‘|  
 bJmBE : 4 

  (–) 3·1,  (–) 0·2,  (–) 1·1 

AWdm 

 Cn^mo³VmAm| Ho$ ‘‘ñdmX d àmW{‘H$VmE±’’ dñVw Ho$ nj ‘| hmoZo na, dñVw H$s ‘m±J {H$g 
àH$ma à^m{dV hmoJr ? {MÌ H$s ghm¶Vm go g‘PmBE & 4 

(a) The coefficient of price elasticity of demand for Good X is (–) 0·2. If 

there is a 5% increase in the price of the good, by what percentage 

will the quantity demanded for the good fall ? 

(b) Arrange the following coefficients of price elasticity of demand in 

ascending order : 

  (–) 3·1,  (–) 0·2,  (–) 1·1 

OR 

How would the demand for a commodity be affected by a change in 

‘‘tastes and preferences’’ of the consumers in favour of the commodity ? 

Explain using a diagram.  
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m  8 ({dH$ën) 
Ho$ ñWmZ na h¡ :  

Note : The following question is for the Visually Impaired Candidates 

only, in lieu of Q. No. 8 (Alternative) :  

 Cn^mo³VmAm| Ho$ ‘‘ñdmX d àmW{‘H$VmE±’’ dñVw Ho$ nj ‘| hmoZo na, dñVw H$s ‘m±J {H$g 
àH$ma à^m{dV hmoJr ? g‘PmBE &  4 

How would the demand for a commodity be affected by a change in 

‘‘tastes and preferences’’ of the consumers in favour of the commodity ? 

Explain. 

9. EH$ dñVw H$m ~mµOma g§VwbZ ‘| h¡ & AÝ¶ ~mV| (H$maH$) g‘mZ ahZo na, g‘PmBE {H$ {H$g 

àH$ma dñVw Ho$ CËnmXZ H$s VH$ZrH$ ‘| gwYma hmoZo go dñVw H$s g§VwbZ H$s‘V VWm g§VwbZ 

‘mÌm à^m{dV hmoVr h¡ & {MÌ H$m à¶moJ H$s{OE & 4 

The market for a good is in equilibrium. Explain, using a diagram, how 

an improvement in technology for producing the good would affect the 

equilibrium price and equilibrium quantity, keeping other factors 

constant. 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m  9 Ho$ ñWmZ na 
h¡ :  

Note : The following question is for the Visually Impaired Candidates 

only, in lieu of Q. No. 9 : 

 EH$ dñVw H$m ~mµOma g§VwbZ ‘| h¡ & AÝ¶ ~mV| (H$maH$) g‘mZ ahZo na, g‘PmBE {H$ {H$g 

àH$ma dñVw Ho$ CËnmXZ H$s VH$ZrH$ ‘| gwYma hmoZo go dñVw H$s g§VwbZ H$s‘V VWm g§VwbZ 

‘mÌm à^m{dV hmoVr h¡ &  4 

The market for a good is in equilibrium. Explain, how an improvement 

in technology for producing the good would affect the equilibrium price 

and equilibrium quantity, keeping other factors constant. 
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10. (H$) EH$ n[adVu H$maH$ Ho$ ~‹T>Vo hþE à{V’$b go ³¶m VmËn¶© h¡ ?  

(I) EH$ n[adVu H$maH$ Ho$ KQ>Vo hþE à{V’$b Ho$ {H$Ýht Xmo H$maUm| H$s g§jon ‘| MMm© 

H$s{OE &   2+4 

(a) What is meant by increasing returns to a variable factor ? 

(b) Discuss briefly, any two reasons for the decreasing returns to a 

variable factor. 

11. (H$) ‘‘nyU© à{V¶mo{JVm ‘| EH$ ’$‘© H$s‘V ñdrH$maH$ hmoVr h¡, O~{H$ EH$m{YH$ma ‘| EH$ 

’$‘© H$s‘V {ZYm©aH$ hmoVr h¡ &’’ {XE JE H$WZ H$m Cn¶w³V H$maUm| g{hV g‘W©Z 

¶m I§S>Z H$s{OE & 3+3 

(I) ‘‘CËnmX {d^oXZ’’ go ³¶m VmËn¶© h¡ ? CXmhaU g{hV g‘PmBE & 

(a) ‘‘A firm under perfect competition is a price taker, whereas, a firm 

under monopoly is a price maker.’’ Defend or refute the given 

statement with valid reasons. 

(b) What is meant by ‘‘product differentiation’’ ? Explain with 

example. 

12. {ZåZ{b{IV n[apñW{V¶m| H$s ì`m»`m H$s{OE : 3+3 

(H$) EH$ hr AZ{Y‘mZ dH«$ na g§MbZ &   

(I) {ZåZ AZ{Y‘mZ dH«$ go Cƒ AZ{Y‘mZ dH«$ na {IgH$md &  

   AWdm 

 g‘-gr‘m§V Cn¶mo{JVm {Z¶‘ H$s ì¶m»¶m H$s{OE & 6 
Explain the following conditions : 

(a) Movement along the same indifference curve. 

(b) Shift from a lower to a higher indifference curve. 

   OR 

Explain the Law of Equi-Marginal Utility. 
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IÊS> ~ 
(g_{îQ> AW©emñÌ) 

SECTION B 

(MACROECONOMICS)     

13. EH$ AW©ì¶dñWm ‘| {Zdoem| H$mo àmoËgm{hV H$aZo Ho$ {bE, Ho$ÝÐr¶ ~¢H$ _________ H$a 
gH$Vm h¡ & (ghr {dH$ën H$m M`Z H$s{OE) 1 

(H$) ZH$X Ama{jV AZwnmV ‘| H$‘r 
(I) ZH$X Ama{jV AZwnmV _| d¥{Õ 
(J) Iwbo ~mµOma ‘| gaH$mar à{V^y{V¶m| H$m {dH«$¶ 
(K) ~¢H$ Xa ‘| d¥{Õ  

In order to encourage investments in the economy, the Central Bank 

may ___________. (Choose the correct alternative) 

(a) Reduce Cash Reserve Ratio 

(b) Increase Cash Reserve Ratio 

(c) Sell Government securities in open market 

(d) Increase Bank Rate 

14. ‘‘wÐm JwUH$’ H$mo n[a^m{fV H$s{OE & 1 

Define ‘money multiplier’. 

15. gaH$mar ~OQ> ‘|, àmW{‘H$ KmQ>m eyÝ¶ hmoJm, O~ ____________ & (ghr {dH$ën H$m 
M`Z H$s{OE)   1 

(H$) amOñd KmQ>m eyÝ¶ hmo 
(I) ewÕ ã¶mO ^wJVmZ eyÝ¶ hmo 
(J) amOH$mofr¶ KmQ>m eyÝ¶ hmo 
(K) amOH$mofr¶ KmQ>m ã¶mO ^wJVmZ Ho$ ~am~a hmo 

Primary deficit in a government budget will be zero, when ___________ . 

(Choose the correct alternative)  

(a) Revenue deficit is zero 

(b) Net interest payments are zero 

(c) Fiscal deficit is zero 

(d) Fiscal deficit is equal to interest payment 
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16. àË¶j H$a go Amn ³¶m g‘PVo h¢ ?   1 

                   AWdm 

 AàË¶j H$a go Amn ³¶m g‘PVo h¢ ?  1 

What do you mean by a direct tax ?  

                     OR 

What do you mean by an indirect tax ? 

 

17. H$sÝg Ho$ {gÕm§V Ho$ A§VJ©V ‘‘A{Y‘m±J’’ H$m AW©ì¶dñWm ‘| amoµOJma na n‹S>Zo dmbo à^md 
H$m C„oI H$s{OE & 3 

             AWdm 

 {ZåZ{b{IV H$m AW© ~VmBE : 3 

(H$) àË`m{eV ~MV 

(I) nyU© amoµOJma  

(J) ñdm¶Îm Cn^moJ 

State the impact of ‘‘Excess Demand’’ under the Keynesian theory on 

employment, in an economy. 

                       OR 

State the meaning of the following : 

(a) Ex-Ante Savings 

(b)  Full Employment 

(c) Autonomous Consumption 

18. ¶{X gr‘m§V Cn^moJ àd¥{Îm (MPC) 0·75 h¡ VWm àma§{^H$ {Zdoe ‘| n[adV©Z < 2,000 

H$amo‹S> h¡, Vmo A§{V‘ Am¶ _| n[adV©Z H$m AmH$bZ H$s{OE & 3 

Estimate the change in final income if Marginal Propensity to Consume 

(MPC) is 0·75 and change in initial investment is < 2,000 crores.  
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19. ‘‘A{YH$ gH$b Kaoby CËnmX (GDP) H$m VmËn¶© AW©ì¶dñWm ‘| dñVwAm| H$s A{YH$ à{V 

ì¶{³V CnbãYVm hmoVm h¡ &’’ ³¶m Amn {XE JE H$WZ go gh‘V h¢ ? AnZo CÎma Ho$ g‘W©Z 
‘| Cn¶w³V H$maU Xr{OE & 4 

AWdm 

 EH$ g§»`mË_H$ CXmhaU Ho$ à`moJ go, dmñV{dH$ gH$b Kaoby CËnmX VWm _m¡{ÐH$ gH$b 
Kaoby CËnmX H$m AW© g_PmBE &  4 

‘‘Higher Gross Domestic Product (GDP) means greater per capita 

availability of goods in the economy.’’ Do you agree with the given 

statement ? Give valid reason in support of your answer. 

OR 

Explain the meaning of Real Gross Domestic Product and Nominal 

Gross Domestic Product, using a numerical example.   

20. H|$Ðr¶ ~¢H$ Ho$ ‘‘gmI {Z¶§ÌH$’’ H$m¶© H$s g§jon ‘| MMm© H$s{OE &  4 

Discuss briefly the ‘‘credit controller’’ function of a Central Bank. 

21. {ZåZ{b{IV H$WZm| H$mo amOñd àm{ßV¶m| ¶m ny±OrJV àm{ßV¶m| ‘| dJuH¥$V H$s{OE & AnZo 
CÎma Ho$ g‘W©Z ‘| Cn¶w³V H$maU Xr{OE & 4 

(H$) EH$ ~m‹T> à^m{dV BbmHo$ Ho$ nr{‹S>Vm| Ho$ {bE {H$gr ~hþamîQ´>r¶ {ZJ‘ Ûmam {dÎmr¶ 
‘XX &  

(I) gmd©O{ZH$ joÌ H$s EH$ BH$mB© Ho$ A§em| (eo¶am|) H$s EH$ {ZOr H$ånZr,  
Y {b{‘Q>oS> H$mo {~H«$s &  

(J) ^maVr¶ ñQ>oQ> ~¢H$ Ûmam gaH$ma H$mo bm^m§e ^wJVmZ &  

(K) A§Vam©îQ´>r¶ ‘wÐm H$mof (IMF) go {b¶m J¶m G$U &  

Classify the following statements as revenue receipts or capital receipts. 

Give valid reasons in support of your answer.  

(a) Financial help from a multinational corporation for victims in a 

flood affected area.  

(b) Sale of shares of a Public Sector Undertaking (PSU) to a private 

company, Y Ltd. 

(c) Dividends paid to the Government by the State Bank of India. 

(d) Borrowings from International Monetary Fund (IMF). 
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22. {ZåZ{b{IV H$mo n[a^m{fV H$s{OE : 6 

(H$) ‘yë¶ d¥{Õ  

(I) gH$b Kaoby CËnmX 

(J) àdmh Ma 

(K) gån{Îm VWm CÚ‘erbVm go àmßV Am¶ 

AWdm 

 {XE JE Am§H$‹S>m| Ho$ AmYma na, ‘‘gH$b Kaoby ny±Or {Z‘m©U’’ VWm ‘‘àMmbZ A{Yeof’’ Ho$ 

‘yë` kmV H$s{OE & 6 

H«$.g§. {ddaU 
am{e 

(< H$amo‹S>m| _|) 

(i) amîQ´>r` Am¶ 22,100 

(ii) ‘µOXÿar d doVZ 12,000 

(iii) {ZOr A§{V‘ Cn^moJ ì¶¶ 7,200 

(iv) ewÕ AàË¶j H$a 700 

(v) gH$b Kaoby ny±Or {Z‘m©U ? 

(vi) ‘yë¶õmg 500 

(vii) gaH$mar A§{V‘ Cn^moJ ì¶¶ 6,100 

(viii) ñd-{Z`mo{OV H$s {‘{lV Am¶ 4,800 

(ix) àMmbZ A{Yeof ? 

(x) {Zdb {Z¶m©V 3,400 

(xi) {H$am¶m 1,200 

(xii) {dXoem| go àmßV {Zdb gmYZ Am¶ () 150 
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Define the following : 

(a) Value Addition 

(b) Gross Domestic Product 

(c) Flow Variables 

(d) Income from property and entrepreneurship 

OR 

Given the following data, find the values of ‘‘Gross Domestic Capital 

Formation’’ and ‘‘Operating Surplus’’. 

S. No. Particulars 
Amount 

(< in crores) 

(i) National Income 22,100 

(ii) Wages and Salaries 12,000 

(iii) Private Final Consumption Expenditure 7,200 

(iv) Net Indirect Taxes 700 

(v) Gross Domestic Capital Formation ? 

(vi) Depreciation 500 

(vii) Government Final Consumption Expenditure 6,100 

(viii) Mixed Income of Self-Employed 4,800 

(ix) Operating Surplus ? 

(x) Net Exports 3,400 

(xi) Rent  1,200 

(xii) Net Factor Income from Abroad () 150 
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23. {ZåZ{b{IV n[apñW{V¶m| ‘| g‘m¶moOZ V§Ì H$s MMm© H$s{OE : 6 

(H$)  g‘J« ‘m±J, g‘J« ny{V© go H$‘ hmo & 

(I)  àË`m{eV {Zdoe, àË`m{eV ~MV go A{YH$ hm| &   

Discuss the adjustment mechanism in the following situations : 

(a) Aggregate demand is lesser than Aggregate Supply. 

(b)  Ex-Ante Investments are greater than Ex-Ante Savings. 

     

24. (H$) ‘ì¶mnma KmQ>m’ VWm ‘Mmby ImVm KmQ>m’ ‘| A§Va ñnîQ> H$s{OE &  

(I) {dXoer ‘wÐm Xa Ho$ {ZYm©aU H$s Zå¶ {d{Z‘¶ Xa àUmbr H$s AdYmaUm H$s g§jon ‘| 

MMm© H$s{OE & 3+3 

(a) Distinguish between ‘Trade Deficit’ and ‘Current Account Deficit’. 

(b) Discuss briefly the concept of flexible exchange rate system of 

foreign exchange rate determination. 
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gm_mÝ` {ZX}e : 

(i) XmoZm| IÊS>m| Ho$ g^r àíZ A{Zdm`© h¢ & 

(ii) àË`oH$ àíZ Ho$ {ZYm©[aV A§H$ CgHo$ gm_Zo {XE JE h¢ & 

(iii) àíZ g§»`m 1 – 4 VWm 13 – 16 A{V bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ H$m 1 A§H$ h¡ & 
BZH$m àË`oH$ H$m CÎma EH$ dmŠ` _| hr Ano{jV h¡ &   

(iv) àíZ g§»`m 5 – 6 Am¡a 17 – 18 bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 3 A§H$ h¢ & 
àË`oH$ H$m CÎma gm_mÝ`V… 60 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(v) àíZ g§»`m 7 – 9 Am¡a 19 – 21 ^r bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 4 A§H$ h¢ & 
àË`oH$ H$m CÎma gm_mÝ`V… 70 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vi) àíZ g§»`m  10 – 12  Am¡a  22 – 24 XrK© CÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 6 A§H$ 
h¢ & àË`oH$ H$m CÎma gm_mÝ`V… 100 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vii) CÎma g§{jßV VWm VÏ`mË_H$ hmoZo Mm{hE VWm `Wmg§^d D$na Xr JB© eãX gr_m Ho$ A§VJ©V 
hr {XE OmZo Mm{hE & 

 

General Instructions : 

(i) All questions in both the sections are compulsory. 

(ii) Marks for questions are indicated against each question. 

(iii) Question Nos. 1 – 4 and 13 – 16 are very short-answer questions carrying 

1 mark each. They are required to be answered in one sentence each. 

(iv) Question Nos.  5 – 6  and  17 – 18  are  short-answer questions carrying  

3 marks each. Answers to them should normally not exceed 60 words 

each. 

(v) Question Nos. 7 – 9 and 19 – 21 are also short-answer questions carrying 

4 marks each.  Answers  to  them  should  normally  not  exceed 70 words 

each.  

(vi) Question  Nos.  10 – 12 and 22 – 24  are  long-answer  questions  

carrying 6 marks each. Answers to them should normally not exceed  

100 words each. 

(vii) Answers should be brief and to the point and the above word limits 

should be adhered to as far as possible. 
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IÊS> A 
(ì`{îQ> AW©emñÌ) 

SECTION A 

(MICROECONOMICS) 

1. `{X {H$gr dñVw H$s 4 BH$mB`m| Ho$ CËnmXZ na Am¡gV pñWa bmJV < 60 AmVr h¡, Vmo Cg 
dñVw H$s 5 BH$mB`m| Ho$ {bE Hw$b pñWa bmJV ____________ hmoJr & ([aº$ ñWmZ H$s 
ny{V© H$a|)   1 

                    AWdm 

 n[adVu bmJV Ho$ H$moB© Xmo CXmhaU ~VmBE &   1 
If the average fixed cost of producing 4 units of output is < 60, then the 

value of total fixed cost for producing 5 units will be _____________ . (Fill 

up the blank)  

   OR 

State any two examples of variable cost. 

2. `{X dñVw X H$s Amny{V© H$s _mÌm _| à{VeV n[adV©Z, dñVw X H$s H$s_V _| hþE à{VeV 
n[adV©Z go A{YH$ h¡, Vmo Amny{V© H$s H$s_V bmoM H$m JwUH$ _____________ hmoJm : 

(ghr {dH$ën H$m M`Z H$a|)   1 

(H$) Es = 1  

(I) Es < 1 

(J) Es = 0  

(K) Es > 1 

If the percentage change in quantity supplied of commodity X is more 

than the percentage change in price of the commodity X, the coefficient 

of  price elasticity of supply would be _______________ : (Choose the 

correct alternative)     

(a) Es = 1   

(b) Es < 1 

(c) Es = 0 

(d) Es > 1 
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3. AmJV-{ZJ©V g_Vb _| gr_m§V CËnmX dH«$ H$s AmH¥${V ___________ ê$n H$s hmoVr h¡ : 

(ghr {dH$ën H$m M`Z H$a|) 1 

(H$) ‘U’ AmH$ma Ho$ dH«$ Ho$ 
(I) CëQ>o ‘U’ AmH$ma Ho$ dH«$ Ho$ 
(J) CëQ>o ‘S’ AmH$ma Ho$ dH«$ Ho$ 
(K) ‘S’ AmH$ma Ho$ dH«$ Ho$ 
The marginal product curve in the input-output plane, looks like 

____________ : (Choose the correct alternative)     

(a) a ‘U’ shaped curve  

(b) an inverse ‘U’ shaped curve 

(c) an inverse ‘S’ shaped curve 

(d) an ‘S’ shaped curve 

4. CËnmXZ g§^mdZm dH«$ (nr.nr.gr.) Cg AdñWm _| _yb-q~Xþ Ho$ ZVmoXa hmoJm, `{X gr_m§V 
Adga bmJV : (ghr {dH$ën H$m M`Z H$a|)  1 

(H$) ~‹T>Vr hþB© hmo 
(I) KQ>Vr hþB© hmo  
(J) pñWa hmo 
(K) G$UmË_H$ hmo  

AWdm 

{XE JE {MÌ _| X1, Y1 d X2, Y2 EH$ H$mën{ZH$ AW©ì`dñWm Ho$ Xmo {^Þ g_`H$mbm|, 
g_`H$mb 1 VWm g_`H$mb 2 H$s CËnmXZ g§^mdZm gr_mE± àñVwV H$aVo h¢ & A1 VWm A2, 

g_`H$mb 1 VWm g_`H$mb 2 _| H«$_e: dmñV{dH$ CËnmXZ àñVwV H$aVo h¢ & P1 VWm P2, 

g_`H$mb 1 VWm g_`H$mb 2 _| H«$_e: g§^m{dV CËnmXZ H$s _mÌm àñVwV H$aVo h¢ &  
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XmoZm| g_` Ad{Y`m| Ho$ ~rM Am{W©H$ {dH$mg H$m _mnZ {ZåZ{b{IV {~ÝXþAm| Ho$ ~rM 
MbZ go Xem©`m Om gH$Vm h¡ : (ghr {dH$ën H$m M`Z H$a|) 1 

(H$) P1 go P2  

(I) A1 go A2  

(J) A1 go P1  

(K) A2 go P2 

A production possibility curve (PPC) would be concave to the origin if 

marginal opportunity cost is : (Choose the correct alternative) 

(a) Increasing  

(b) Decreasing  

(c) Constant  

(d) Negative  

OR 

In the given figure X1, Y1 and X2, Y2 are production possibility frontiers 

for a hypothetical economy in two different time periods,  

Period 1 and Period 2. A1 and A2, represent actual outputs in Period 1 

and Period 2 respectively. P1 and P2, represent potential outputs in 

Period 1 and Period 2 respectively. 
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The economic growth over the two periods would be represented by 

movement from : (Choose the correct alternative) 

(a) P1 to P2  

(b) A1 to A2  

(c) A1 to P1  

(d) A2 to P2 

5. ‘‘{H$gHo$ {bE CËnmXZ {H$`m OmE’’ H$s Ho$ÝÐr` g_ñ`m H$mo g§jon _| g_PmBE &   3 

Explain briefly the central problem of ‘‘For whom to produce’’. 

6. EH$ {ddoH$erb Cn^moº$m Ho$db Xmo dñVwAm|, dñVw X d dñVw Y H$m Cn^moJ H$aVr h¡,  
{OZH$s H$s_V| H«$_e: < 4 d < 5 h¢ & CgH$s Hw$b _m¡{ÐH$ Am` < 40 h¡ & Xr JB© gyMZm 
Ho$ AmYma na {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :   1, 2 

(H$) Cn^moº$m Ho$ ~OQ> aoIm g_rH$aU H$m CëboI H$s{OE &  

(I) ~OQ> aoIm H$s àdUVm Š`m hmoJr ?  

                    AWdm 

 EH$ {ddoH$erb Cn^moº$m Ho$db Xmo dñVwAm|, dñVw X d dñVw Y H$m Cn^moJ H$aVr h¡, `{X 

dV©_mZ _| dh 















y

y

x

x

P

MU

P

MU
 H$s n[apñW{V _| h¡, Vmo Cn^moº$m g§VwbZ àmßV H$aZo Ho$ 

{bE CgH$m g§^m{dV ì`dhma ~VmBE &   3 

A rational consumer is consuming only two goods, Good X and Good Y 

with < 4 and < 5 as their respective prices. Her total money income is  

< 40. Answer the following questions, based on the given information :  

(a) State the consumer’s budget line equation. 

(b) What would be the slope of the budget line ?  

   OR 

If a rational consumer is consuming only two Goods X and Y, state her 

likely behaviour to attain consumer’s equilibrium if she faces a situation 

where 















y

y

x

x

P

MU

P

MU
. 
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7. Xr JB© {ZåZ{b{IV AZwgyMr Ho$ AmYma na, ~VmBE {H$ CËnmXZ H$s {H$g _mÌm na \$_© 
g§VwbZ _| hmoJr d Š`m| &   4 

_mÌm 
(BH$mB`m| _|) 

H$s_V   
(< _|) 

Hw$b bmJV 

(< _|) 

0 10 5 

1 10 25 

2 10 35 

3 10 40 

4 10 50 

5 10 70 

6 10 100 

Given the following schedule, state at which level of output, will the firm 

be at equilibrium and why. 

Quantity 

(in units) 

Price  

(in <) 

Total Cost 

(in <) 

0 10 5 

1 10 25 

2 10 35 

3 10 40 

4 10 50 

5 10 70 

6 10 100 

8. `{X {H$gr dñVw H$s H$s_V _| 10% d¥{Õ Ho$ n[aUm_ñdê$n Bg dñVw H$s _m±J 40 BH$mB© go 

KQ> H$a 30 BH$mB© ah OmVr h¡, dñVw H$s _m±J H$s H$s_V bmoM Ho$ JwUH$ H$s JUZm  

H$s{OE & _m±J H$s H$s_V bmoM H$s àH¥${V na {Q>ßnUr H$s{OE &   4 

                                         AWdm 

 dm`w àXÿfU Ho$ ñVa _| d¥{Õ H$m ‘‘dm`w emoYH$m|>’’ (Air Purifiers) H$s ~mµOma _m±J na n‹S>Zo 

dmbo à^md H$s ì`m»`m H$s{OE & (aoIm{MÌ H$m à`moJ H$s{OE)   4 
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If the price of a commodity rises by 10% and its quantity demanded falls 

from 40 units to 30 units, calculate coefficient of price elasticity of 

demand. Comment on the nature of price elasticity of demand.    

                        OR 

Explain the effect of the increase in the level of air pollution, on the 

market demand for ‘‘Air Purifiers’’. (Use diagram)  

 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m  8 ({dH$ën) Ho$ 
ñWmZ na h¡ :  

Note : The following question is for the Visually Impaired Candidates only, 

in lieu of Q. No. 8 (Alternative) :  

 dm`w àXÿfU Ho$ ñVa _| d¥{Õ H$m ‘‘dm`w emoYH$m|>’’ (Air Purifiers) H$s ~mµOma _m±J na n‹S>Zo 

dmbo à^md H$s ì`m»`m H$s{OE &  4 
Explain the effect of the increase in the level of air pollution, on the 

market demand for ‘‘Air Purifiers’’.  

9. ‘{ZåZV_ {ZYm©[aV H$s_V’ go Amn Š`m g_PVo h¢ ? Cn ẁº$ CXmhaU H$m à`moJ H$aVo hþE 

ì`m»`m H$s{OE &   4 

AWdm 

 ‘CƒV_ {ZYm©[aV H$s_V’ go Amn Š`m g_PVo h¢ ? Cn ẁº$ CXmhaU H$m à`moJ H$aVo hþE 
ì`m»`m H$s{OE &   4  

What is meant by ‘Price Floor’ ? Explain using a suitable example.   

           OR 

What is meant by ‘Price Ceiling’ ? Explain using a suitable example.   

10. ‘gmYZ Ho$ G$UmË_H$ à{V\$b>’ go Š`m A{^àm` h¡ ? gmYZ Ho$ G$UmË_H$ à{V\$b Ho$ {H$Ýht 

Xmo H$maUm| H$s MMm© H$s{OE &  6     

What is meant by ‘negative returns to a factor’ ? Discuss any two 

reasons behind negative returns to a factor. 
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11. aoIm{MÌ H$m à`moJ H$aVo hþE, AZ{Y_mZ dH«$ H$s {ZåZ{b{IV {deofVmAm| H$s g§jon _| 
MMm© H$s{OE :   3, 3 

(H$) _yb-{~ÝXþ H$s Amoa CÎmb dH«$  
(I) ~mE± go XmE± ZrMo H$s Amoa T>mby dH«$  
Discuss briefly the following properties of an indifference curve, using 

diagram : 

(a) Convexity to origin 

(b) Downward sloping from left to right 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m  11 Ho$ ñWmZ na h¡ :  
Note : The following question is for the Visually Impaired Candidates only, 

in lieu of Q. No. 11 : 

 AZ{Y_mZ dH«$ H$s {ZåZ{b{IV {deofVmAm| H$s g§jon _| MMm© H$s{OE : 3, 3   

(H$) _yb-{~ÝXþ H$s Amoa CÎmb dH«$  

(I) ~mE± go XmE± ZrMo H$s Amoa T>mby dH«$  

Discuss briefly the following properties of an indifference curve : 

(a) Convexity to origin 

(b) Downward sloping from left to right 

12. (H$) ‘‘_m±J dH«$ hr \$_© H$m Am¡gV AmJ_ (AR) dH«$ hmoVm h¡ &’’ Š`m Amn Bg H$WZ go 
gh_V h¢ ? AnZo CÎma Ho$ g_W©Z _|, H$maU XoVo hþE g§jon _| MMm© H$s{OE &  

 (I) {H$gr dñVw H$m ~mµOma g§VwbZ H$s pñW{V _| h¡ & dñVw H$s Amny{V© _| d¥{Õ hmo OmVr 
h¡ O~{H$ dñVw H$s _m±J _| H$moB© n[adV©Z Zht hmoVm & gmå` H$r_V VWm gmå` _mÌm 
na n[adV©Z go n‹S>Zo dmbo à^md H$s MMm© H$s{OE &      3, 3 

AWdm 

 EH$m{YH$mamË_H$ à{V`moJr ~mµOma ê$n H$s VrZ à_wI {deofVmAm| H$m {ddaU Xr{OE &  6    
(a) ‘‘Demand curve is the Average Revenue (AR) curve of a firm.’’ Do 

you agree ? Discuss briefly, with reason in support of your answer.   

(b) The market for a commodity is in equilibrium. The supply of the 

commodity increases without any corresponding change in the 

demand for the commodity. Discuss the impact of the change on 

the equilibrium price and equilibrium quantity. 

   OR 

Elaborate three main features of a monopolistic competitive form of 

market.  
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IÊS> ~ 
(g_{îQ> AW©emñÌ) 

SECTION B 

(MACROECONOMICS)     

13. {H$gr AW©ì`dñWm Ho$ ^wJVmZ g§VwbZ _| ñdm`Îm boZXoZm| H$mo n[a^m{fV H$s{OE &  $  1 

AWdm  

 {H$gr AW©ì`dñWm Ho$ ^wJVmZ g§VwbZ _| g_§OZ boZXoZm| H$mo n[a^m{fV H$s{OE &  1 

Define autonomous transactions in Balance of Payments of an economy.  

OR 

Define accommodating transactions in Balance of Payments of an economy. 

14. ‘AZ¡pÀN>H$ ~oamoµOJmar’ H$s AdYmaUm H$s n[a^mfm Xr{OE &   1  
Define the term ‘‘Involuntary Unemployment’’.   

15. ^maVr` [aµOd© ~¢H$ Ûmam ào{fV [anmoQ>© Ho$ AZwgma, Cn^moº$m H$s_V gyMH$m§H$ (CPI) Ho$ 
AmYma na Bg df© H$s_V d¥{Õ H$s Xa {nN>bo df© H$s 8% H$s VwbZm _| 5% ah OmEJr & 
{ZåZ{b{IV _| go H$m¡Z-gm H$WZ Bg n[apñW{V H$mo àñVwV H$aVm h¡ ?  1 

(H$) CPI _| H$_r  

(I) {nN>bo df© H$s VwbZm _| Bg df© CPI H$s d¥{Õ Xa H$_ ahr h¡  

(J) CPI H$m pñWa ahZm  

(K) Cn ẁ©º$ _| go H$moB© ^r Zht  

According to a report forwarded by the Reserve Bank of India, there was 

a fall in rate of inflation as measured by Consumer Price Index (CPI) on  

year-on-year basis to 5% from 8% in the previous year. Which of the 

following statements represents the situation ? 

(a) CPI has fallen   

(b) CPI has risen at a rate lower than the preceding year  

(c) CPI is constant   

(d) None of the above     

16. AW©ì`dñWm _| J¥hñWm| Ûmam {dXoer {d{Z_` H$s _m±J Ho$ H$moB© Xmo òmoV ~VmBE &   1  

Name any two sources of demand for foreign exchange by households in 
an economy.   
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17. A§{V_ dñVwAm| Ed§ _Ü`dVu dñVwAm| _| A§Va ñnîQ> H$s{OE & Cn`wº$ CXmhaU Xr{OE &   3 

   AWdm  

 `{X {H$gr BbmHo$ _|, ZJa {ZJ_ Ûmam EH$ nmH©$ {dH${gV {H$`m OmVm h¡, Bg nmH©$ H$s 
XmoZm|, gH$mamË_H$ VWm G$UmË_H$ ~møVmE± hm|Jr & BZ XmoZm| àH$ma H$s ~møVmAm| H$m H$maU 
g{hV EH$-EH$ CXmhaU Xr{OE &  3 

Distinguish between final goods and intermediate goods. Give suitable 

examples.  

   OR 

If in a locality, a new park is developed by the municipal corporation, it 

will have externalities, both positive and negative. State one example 

each of both types of externalities with reason.  

18. `{X gr_m§V Cn^moJ àd¥{Îm 80% h¡ Am¡a Am` Ho$ g^r ñVam| na g_mZ ahVr h¡, VWm 
ñdm`Îm Cn^moJ < 400 H$amo‹S> h¡, Vmo Xr JB© H$mën{ZH$ AW©ì`dñWm Ho$ Cn^moJ \$bZ H$s 

aMZm H$s{OE & 3    

If marginal propensity to consume is 80% and is constant at all levels of 

income, and the autonomous consumption is < 400 crores, construct 

consumption function of the given hypothetical economy.  

19. ~VmBE {H$ {ZåZ{b{IV _| go H$m¡Z-gm H$WZ ghr  AWdm µJbV  h¡ & Cn ẁº$ H$maU  

Xr{OE & 2, 2 

(H$) H$sÝg Ho$ amoµOJma {gÕm§V Ho$ AZwgma, {H$gr AW©ì`dñWm _| Aën amoµOJma H$s 
pñW{V H$^r {dÚ_mZ Zht hmo gH$Vr h¡ &  

(I) Xmo-joÌH$ AW©ì`dñWm _|, `{X Am` eyÝ` h¡, Vmo Am¡gV Cn^moJ àd¥{Îm ^r eyÝ` 
hmoJr &   

State which of the following statements are true or false. Give valid 

reasons.   

(a) According to Keynesian theory of employment, a state of  

under-employment can never exist in an economy.    

(b) In a two-sector economy, if income is zero, average propensity to 

consume will also zero.  



     

 58/3/3 12 

20. hmb Ho$ g_` _| ^maVr` én`m (<) A_o[aH$s S>m°ba ($) Ho$ _wH$m~bo AnZo g~go {ZMbo 

ñVa na nhþ±M J`m Wm & ^maVr` Am`mV na BgHo$ n‹S>Zo dmbo à^md H$s MMm© H$s{OE & 4 

 AWdm  

 ‘‘ì`mnma KmQ>o H$s pñW{V _| EH$ Xoe H$m ^wJVmZ g§VwbZ Mmby ImVo _| A{VaoH$ H$s pñW{V 

_| Zht hmo gH$Vm &’’ Š`m Amn Bg {XE JE H$WZ go gh_V h¢ ? H$maU g{hV MMm©  

H$s{OE &   4        4 

 In recent times the Indian Rupee (<) depreciated to an all time low 

against the US dollar ($). Discuss its impact on India’s Imports.  

   OR 

‘‘A country with trade deficit cannot have current account surplus in its 

Balance of Payments.’’ Do you agree with the given statement ? Discuss 

with reason.  

21. Cn ẁº$ aoIm{MÌ H$m à`moJ H$aVo hþE ñ\$s{VH$mar A§Vamb H$s pñW{V ñnîQ> H$s{OE & 

ñ\$s{VH$mar A§Vamb Ho$ g_mYmZ Ho$ {bE H$moB© Xmo amOH$mofr` Cnm` gwPmBE &  2, 2 

Show inflationary gap using a well labelled diagram. Suggest any two 

fiscal measures to correct the situation of inflationary gap.  

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m  21 Ho$ ñWmZ na h¡ :  
Note : The following question is for the Visually Impaired Candidates only, 

in lieu of Q. No. 21 : 

 ñ\$s{VH$mar A§Vamb H$m Š`m VmËn`© h¡ ? ñ\$s{VH$mar A§Vamb Ho$ g_mYmZ Ho$ {bE H$moB© Xmo 
amOH$mofr` Cnm` gwPmBE &  2, 2  
What is meant by inflationary gap ? Suggest any two fiscal measures to 

correct the situation of inflationary gap. 

22. EH$ H$mën{ZH$ g§»`mË_H$ CXmhaU Ûmam dm{UpÁ`H$ ~¢H$ Ûmam _wÐm g¥OZ H$s à{H«$`m H$s 
ì`m»`m H$s{OE &   6 

Explain the process of money creation by a commercial bank using a 

hypothetical numerical example.  
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23. {XE JE {ZåZ{b{IV Am±H$‹S>m| Ho$ AmYma na, ‘àMmbZ A{Yeof’ VWm ‘{Zdb {Z`m©V’ Ho$ 
_yë` kmV H$s{OE :  6 

 

H«$. g§. {ddaU  am{e   

(H$amo‹S> < _|)  

i ñd-{Z`mo{OV H$s {_{lV Am` 700 

ii {dXoe go àmßV {Zdb gmYZ Am` 150 

iii {ZOr A§{V_ Cn^moJ ì`` 2,200 

iv bm^ 200 

v {Zdb AàË`j H$a 150 

vi amîQ´>r` Am` 5,000 

vii gH$b Kaoby ny±Or {Z_m©U 1,100 

viii _µOXÿar d doVZ 2,200 

ix {Zdb {Z`m©V ? 

x gaH$mar A§{V_ Cn^moJ ì`` 1,300 

xi pñWa ny±Or H$m Cn^moJ  200 

xii àMmbZ A{Yeof ? 
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Given the following data, find the values of ‘Operating Surplus’ and ‘Net 

Exports’ :   

S.No. Particulars 
Amount  

(in < Crores )  

i Mixed Income of Self-Employed 700 

ii Net Factor Income from Abroad 150 

iii 
Private Final Consumption 

Expenditure 
2,200 

iv Profits 200 

v Net Indirect Taxes 150 

vi National Income 5,000 

vii Gross Domestic Capital Formation 1,100 

viii Wages and Salaries 2,200 

ix Net Exports ?  

x 
Government Final Consumption 

Expenditure  
1,300 

xi Consumption of Fixed Capital 200 

xii Operating Surplus ? 

24. (H$) gaH$ma H$s amOñd àm{ßV`m| d ny±OrJV àm{ßV`m| _| {d ôX H$s{OE &   

 (I) ‘{d{Zdoe’ VWm ‘{dXoem| go àmßV G$U’ H$mo Š`m gaH$ma H$s amOñd àm{ßV`m| _| Omo‹S>m 

OmVm h¡ ? H$maU ~VmBE & 4, 2        4 

 AWdm  
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 {XE JE {ZåZ{b{IV Am±H$‹S>m| go (i) amOñd KmQ>o, d (ii) amOH$mofr` KmQ>o Ho$ _mZ H$s JUZm  

H$s{OE :   6 

H«$. g§. {ddaU  am{e   

(H$amo‹S> < _|)  
1 H$a AmJ_  1,000 

2 µJ¡a-H$a AmJ_  150 

3 gaH$ma Ûmam {Zdb G$U  780 

4 {d{Zdoe àm{ßV`m±  50 

5 amOñd ì``  1,500 

6 ny±OrJV ì``  480 

(a) Distinguish between revenue receipts and capital receipts of the 

government.    

(b) Do ‘disinvestment’ and ‘loan proceeds from abroad’ constitute 

revenue receipts of the government ? Give reason.   

   OR 

Given the following data estimate the values of (i) Revenue deficit, and   

(ii) Fiscal deficit :   

S.No. Particulars 
Amount  

(in < Crores)  

1 Tax Revenue  1,000 

2 Non-Tax Revenue  150 

3 Net Borrowings by Government   780 

4 Disinvestment Proceeds  50 

5 Revenue Expenditure  1,500 

6 Capital Expenditure 480 
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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

 Series BVM/4  H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 

 
 

 

 

 

 
 

 

 

 

AW©emñÌ 
ECONOMICS 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 80 

Time allowed : 3 hours Maximum Marks : 80 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 15 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >24 àíZ h¢ & 
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 
_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 15 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 24 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) XmoZm| IÊS>m| Ho$ g^r àíZ A{Zdm`© h¢ & 

(ii) àË`oH$ àíZ Ho$ {ZYm©[aV A§H$ CgHo$ gm_Zo {XE JE h¢ & 

(iii) àíZ g§»`m 1 – 4 VWm 13 – 16 A{V bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ H$m 1 A§H$ h¡ & 
BZH$m àË`oH$ H$m CÎma EH$ dmŠ` _| hr Ano{jV h¡ &   

(iv) àíZ g§»`m 5 – 6 Am¡a 17 – 18 bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 3 A§H$ h¢ & 
àË`oH$ H$m CÎma gm_mÝ`V… 60 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(v) àíZ g§»`m 7 – 9 Am¡a 19 – 21 ^r bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 4 A§H$ h¢ & 
àË`oH$ H$m CÎma gm_mÝ`V… 70 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vi) àíZ g§»`m  10 – 12  Am¡a  22 – 24 XrK© CÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 6 A§H$ 
h¢ & àË`oH$ H$m CÎma gm_mÝ`V… 100 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vii) CÎma g§{jßV VWm VÏ`mË_H$ hmoZo Mm{hE VWm `Wmg§^d D$na Xr JB© eãX gr_m Ho$ A§VJ©V 
hr {XE OmZo Mm{hE & 

 

General Instructions : 

(i) All questions in both the sections are compulsory. 

(ii) Marks for questions are indicated against each question. 

(iii) Question Nos. 1 – 4 and 13 – 16 are very short-answer questions carrying 

1 mark each. They are required to be answered in one sentence each. 

(iv) Question Nos.  5 – 6  and  17 – 18  are  short-answer questions carrying  

3 marks each. Answers to them should normally not exceed 60 words 

each. 

(v) Question Nos. 7 – 9 and 19 – 21 are also short-answer questions carrying 

4 marks each.  Answers  to  them  should  normally  not  exceed 70 words 

each.  

(vi) Question  Nos.  10 – 12 and 22 – 24  are  long-answer  questions  

carrying 6 marks each. Answers to them should normally not exceed  

100 words each. 

(vii) Answers should be brief and to the point and the above word limits 

should be adhered to as far as possible. 
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IÊS> A 
(ì`{îQ> AW©emñÌ) 

SECTION A 

(MICROECONOMICS) 

 

1. {XE JE {MÌ ‘|, CËnmXZ g§^mdZm dH«$ X1Y1 na q~Xþ A go X2Y2 na q~Xþ B H$m 

{IgH$md _________ Xem©Vm h¡ : (Cn ẁº$ {dH$ën H$m M`Z H$a|)  1 

 
 

(H$) g§gmYZm| ‘| H$‘r  

(I) g§gmYZm| ‘| d¥{Õ 

(J) g§gmYZm| H$m nyU© d Hw$eb à¶moJ 

(K) g§gmYZm| H$m Anì¶¶ 

 
AWdm 

 

`{X n[adV©Z H$s gr_m§V Xa ___________ hmo, Vmo CËnmXZ g§^mdZm dH«$ _yb-{~ÝXþ Ho$ 

CÎmb hmoJm & ([aº$ ñWmZ H$s ny{V© H$a|) 1  
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Shift from Point A on Production Possibility Curve X1Y1 to Point B on 

X2Y2 in the given figure indicates : (Choose the correct alternative)  

 
 

(a) Decrease in resources  

(b) Increase in resources 

(c) Full and efficient utilisation of resources 

(d) Wastage of resources 

OR 

A Production Possibility Curve (PPC) would be convex to the origin if 

Marginal Rate of Transformation (MRT) is ________ . (Fill up the blank) 

2. {H$gr ’$‘© H$s {H$Ýht Xmo A§V{Z©{hV bmJVm| Ho$ CXmhaUm| H$m C„oI H$s{OE & 1 

          AWdm 

 n[adVu bmJV H$mo n[a^m{fV H$a| & 1 

Mention any two examples of implicit cost incurred by a firm. 

  OR 

Define variable cost. 
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3. EH$ dñVw H$s ny{V© H$s H$s‘V bmoM H$m JwUm§H$ 3 h¡ & Bgo _________ H$hm OmVm h¡ & 

(Cn ẁº$ {dH$ën H$m M`Z H$a|) 1 

(H$) BH$mB© Ho$ ~am~a bmoMXma ny{V© 

(I) nyU©V: ~obmoMXma ny{V© 

(J) bmoMXma ny{V© 

(K) ~obmoMXma ny{V© 

The coefficient of price elasticity of supply of a good is 3. It is known as 

___________ . (Choose the correct alternative)  

(a) Unitary Elastic Supply 

(b) Perfectly Inelastic Supply 

(c) Elastic Supply 

(d) Inelastic Supply 

4. nyU© à{V¶mo{JVm ‘| Am¡gV g§àm{ßV dH«$ H$m AmH$ma _________ hmoJm &  1 
 ([aº$ ñWmZ H$s ny{V© H$a|)   

The shape of the average revenue curve under perfect competition would 

be _________ . (Fill up the blank) 

5. EH$ H$mën{ZH$ AZwgyMr H$m à¶moJ H$aVo hþE, Hw$b Cn¶mo{JVm VWm gr‘m§V Cn¶mo{JVm Ho$ 

~rM g§~§Y H$s MMm© H$s{OE & 3 

Discuss the relationship between total utility and marginal utility, using 

a hypothetical schedule. 
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6. ‘‘³¶m CËnmXZ {H$¶m OmE’’ H$s Ho$ÝÐr¶ g‘ñ¶m na g§jon ‘| MMm© H$s{OE & 3 

AWdm 

 {ZåZ{b{IV H$WZm| H$mo, C{MV H$maUm| g{hV gH$mamË‘H$ AW©emñÌ ¶m AmXe©H$ AW©emñÌ 
‘| dJuH¥$V H$s{OE : 3 
(H$) WmoH$ ‘yë¶ gyMH$m§H$ Ho$ ~{Zñ~V Cn^mo³Vm ‘yë¶ gyMH$m§H$, Xoe ‘| ‘h±JmB© Xa H$m 

A{YH$ dmñV{dH$ {MÌU àñVwV H$aVm h¡ & 
(I) CnXmZm| H$mo ~hþV gmdYmZrnyd©H$ àñVm{dV H$aZm Mm{hE & 
Discuss briefly the central problem of ‘‘What to produce’’. 

OR 

Classify the following statements into positive economics or normative 

economics, with suitable reasons : 

(a) Consumer price index presents a more realistic picture of the 

inflation rate in a country, than the wholesale price index. 

(b)  Subsidies should be offered very carefully. 

7. {H$gr dñVw H$m ‘yë¶ < 10 go ~‹T>H$a < 14 hmo OmVm h¡ & ¶{X ‘m±J H$s H$s‘V bmoM H$m 
JwUm§H$ (–) 1·25 h¡, Vmo dñVw H$s ‘m±Jr JB© ‘mÌm ‘| à{VeV H$‘r H$s JUZm H$s{OE & 4 

AWdm 
 {ZåZ{b{IV H$WZm| ‘| go H$m¡Z-gm ghr ¶m µJbV h¡ ? AnZo CÎma Ho$ g‘W©Z ‘| Cn¶w³V 

H$maU Xr{OE & 4 

(H$) dñVw H$s ‘m±J H$s H$s‘V bmoM Ho$ JwUm§H$ H$m, Cg dñVw Ho$ d¡H$pënH$ à`moJm| H$s 
g§»`m go G UmË_H$ g§~§Y hmoVm h¡ & 

(I) {dbm{gVm H$s dñVwAm| H$s ‘m±J H$s H$s‘V bmoM àm¶: H$‘ hmoVr h¡ & 
The price of a commodity increases from < 10 to < 14. Calculate 

percentage fall in quantity demanded of the commodity if coefficient of 

price elasticity of demand is (–) 1·25.  

OR 

State whether the following statements are true or false. Give valid 

reasons in support of your answer. 

(a) The coefficient of price elasticity of demand for the commodity is 

inversely related to the number of alternative uses of the 

commodity. 

(b)  Luxury goods often have lower price elasticity of demand. 
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8. Cn¶w³V CXmhaUm| H$s ghm`Vm go ‘‘H$s‘V {d^oX’’ VWm ‘‘dñVw {d^oXrH$aU’’ Ho$ AW© H$s 
g§jon ‘| MMm© H$s{OE & 4 

AWdm 
nyU© à{V`mo{JVm Ho$ AÝVJ©V EH$ \$_© H$s_V-ñdrH$maH$ hmoVr h¡ `m H$s_V-{ZYm©aH$ ? AnZo 
CÎma H$s nw{ï> H$s{OE & 4 
Discuss briefly the meaning of ‘‘Price discrimination’’ and ‘‘Product 

differentiation’’ with the help of suitable examples.  

OR 

Is a firm under perfect competition a price taker, or a price maker ? 

Justify your answer. 

9. Xr JB© AZwgyMr H$s ghm¶Vm go, gr‘m§V g§àm{ßV  gr‘m§V bmJV {d{Y Ûmam ’$‘© Ho$ g§VwbZ 
H$m {ZYm©aU H$s{OE & AnZo CÎma Ho$ g‘W©Z ‘| Cn¶w³V H$maU Xr{OE & 4 

CËnmXZ 
(BH$mB¶m| ‘|) 

Hw$b g§àm{ßV (TR) 
(< ‘|) 

Hw$b bmJV (TC) 
(< ‘|) 

1 20 20 

2 40 30 

3 60 36 

4 80 40 

5 100 60 

6 120 90 

With the help of the given schedule, determine the firm’s equilibrium 

using marginal revenue  marginal cost approach. Give valid reasons in 

support of your answer. 

Output 

(in units) 

Total Revenue (TR) 

(in <) 

Total Cost (TC) 

(in <) 

1 20 20 

2 40 30 

3 60 36 

4 80 40 

5 100 60 

6 120 90 
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10. (H$) AënH$mbrZ Am¡gV bmJV dH«$ U-AmH$ma H$m ³¶m| hmoVm h¡ ?  

(I) Hw$b bmJV (TC) dH«$, Hw$b n[adVu bmJV (TVC) dH«$ VWm Hw$b pñWa bmJV 

(TFC) dH«$ Ho$ ~rM g§~§Y g‘PmBE & {MÌ H$m à¶moJ H$s{OE & 2+4 

(a) Why is the short run Average Cost curve U-shaped ? 

(b) Explain the relation among Total Cost (TC) curve, Total Variable 

Cost (TVC) curve and Total Fixed Cost (TFC) curve. Use diagram. 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 10(I) Ho$ 
ñWmZ na h¡ :  

Note : The following question is for the Visually Impaired Candidates 

only, in lieu of Q. No. 10(b) : 

Hw$b bmJV (TC), Hw$b n[adVu bmJV (TVC) VWm Hw$b pñWa bmJV (TFC) Ho$ 
~rM g§~§Y g‘PmBE & 

Explain the relation among Total Cost (TC), Total Variable Cost 

(TVC) and Total Fixed Cost (TFC). 

11. (H$) {ZåZ{b{IV H$WZ ‘| {XE JE ~mµOma ê$n H$s nhMmZ H$s{OE VWm g§~§{YV 
d¡{eîQ²>¶ H$s ì`m»`m H$s{OE :  

  ‘‘Bg ~mµOma ‘|, dñVw Ho$ g^r JwU H«o$VmAm| Am¡a {dH«o$VmAm| Ho$ {bE g‘ê$n hmoVo  

h¢ &’’ 

(I) Ý¶yZV‘ {ZYm©[aV H$s_V H$mo n[a^m{fV H$s{OE & gaH$ma Ûmam {H$E JE hñVjon Ho$ 

g§^m{dV n[aUm‘ H$m C„oI H$s{OE & 3+3  

(a) Identify the market form and explain the corresponding feature, 

as given in the following statement : 

 ‘‘The commodity in this market has attributes which are identical 

for sellers and buyers.’’ 

(b) Define Price Floor. State the likely consequence of this type of 

intervention by the government.  
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12. ‘mZ br{OE {H$ EH$ Cn^mo³Vm {OgH$m ~OQ> < 500 h¡, ‘mÌ Xmo dñVwE±, dñVw X VWm dñVw 
Y H$m Cn^moJ H$aZm MmhVr h¡ & dñVwAm| H$s H$s‘V H«$‘e: < 50 Am¡a < 25 h¡ &  

 Xr JB© gyMZm Ho$ AmYma na {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :  

(H$) Cn^mo³Vm H$m ~OQ> g‘rH$aU {b{IE & 

(I) ~OQ> aoIm H$s àdUVm ³¶m h¡ ? 

(J) ¶{X dh gånyU© < 500, dñVw X na ì¶¶ H$aVr h¡, Vmo {H$VZr BH$mB¶m± H«$¶ H$a 
nm¶oJr ? 

(K) ¶{X dñVw Y H$s H$s‘V XþJwZr hmo OmE VWm dh gånyU© < 500 dñVw Y na ì¶¶ 
H$aVr h¡, Vmo {H$VZr BH$mB¶m± H«$¶ H$a nm¶oJr ? 1+1+2+2 

AWdm 

 ‘‘EH$ Cn^mo³Vm H$mo g§VwbZ AdñWm ‘| hmoZo Ho$ {bE, gr‘m§V à{VñWmnZ Xa H$mo BZ Xmo 

dñVwAm| H$s H$s‘Vm| Ho$ AZwnmV Ho$ ~am~a hmoZm Mm{hE &’’ ³¶m Amn {XE JE H$WZ H$m 
g‘W©Z H$aVo h¢ ? AnZo CÎma H$mo {gÕ H$s{OE & 6 

Suppose a consumer whose budget is < 500, wants to consume only two 

goods, Good X and Good Y. The goods are respectively priced at < 50 

and < 25. 

Answer the following questions on the basis of the given information : 

(a) State the budget equation of the consumer. 

(b) What is the slope of the budget line ? 

(c) How many units can she purchase if she spends the entire < 500 

on Good X ? 

(d) How many units can she purchase if she spends the entire < 500 

on Good Y, given that the price of good Y has doubled ? 

OR 

‘‘For a consumer to be in equilibrium position, marginal rate of 

substitution between the two goods must be equal to ratio of prices of 

the two goods.’’ Do you agree with the given statement ? Justify your 

answer. 
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IÊS> ~ 
(g_{îQ> AW©emñÌ) 

SECTION B 

(MACROECONOMICS)    

13. ‘‘A§{V‘ G$UXmVm’’ Ho$ ê$n ‘| Ho$ÝÐr¶ ~¢H$ Ûmam {Z^mB© OmZo dmbr ^y{‘H$m H$m C„oI  

H$s{OE & 1 

State the role played by the central bank as the ‘‘lender of last resort’’. 

14. ‘mZ br{OE {H$ Amn ‘‘^maV Ho$ {dÎm ‘§Ìr H$s gbmhH$ma g{‘{V’’ Ho$ EH$ gXñ¶ h¢ & {dÎm 

‘§Ìr ~OQ> _| ~‹T>Vo hþE amOñd KmQ>o Ho$ g§X^© ‘| qM{VV h¢ &  

 gaH$ma Ho$ ~‹T>Vo hþE amOñd KmQ>o H$mo {Z¶§ÌU ‘| bmZo Ho$ {bE H$moB© EH$ Cnm¶ gwPmBE & 1 

Suppose you are a member of the ‘‘Advisory Committee to the Finance 

Minister of India’’. The Finance Minister is concerned about the rising 

Revenue Deficit in the budget. 

Suggest any one measure to control the rising Revenue Deficit of the 

government. 

15. gaH$ma H$s {H$Ýht Xmo µJ¡a-H$a amOñd àm{ßV¶m| Ho$ CXmhaU Xr{OE & 1 

                                    AWdm 

 gmd©O{ZH$ joÌ Ho$ CnH«$‘m| (PSUs) go àmßV bm^m§e, gaH$ma Ho$ {bE _________ H$m 
^mJ hmoVm h¡ & (ghr {dH$ën H$m M`Z H$a|) 1 

(H$) µJ¡a-H$a amOñd àm{ßV¶m| 

(I) H$a àm{ßV¶m| 

(J) ny±OrJV àm{ßV¶m| 

(K) ny±OrJV ì¶¶ 
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State any two examples of non-tax revenue receipts of the government. 

                             OR 

Dividends received from Public Sector Undertakings (PSUs) are a part 

of the government’s ____________ . (Choose the correct alternative) 

(a) Non-tax Revenue Receipts 

(b) Tax Receipts 

(c) Capital Receipts 

(d) Capital Expenditure 

16. ‘‘‘m±J O‘m’’ H$mo n[a^m{fV H$s{OE & 1 

Define ‘‘demand deposits’’. 

 

17. {H$gr AW©ì¶dñWm H$m Cn^moJ ’$bZ h¡ : C = 40 + 0·8 Y (am{e < H$amo‹S> ‘|) & Am¶ Ho$ 

Cg ñVa H$m {ZYm©aU H$s{OE {Og na Am¡gV Cn^moJ àd¥{Îm BH$mB© Ho$ ~am~a hmo & 3 

AWdm 

 Am¡gV Cn^moJ àd¥{Îm ¶m Am¡gV ~MV àd¥{Îm, XmoZm| ‘| go H$m¡Z G$UmË‘H$ hmo gH$Vm h¡ VWm 

³¶m| ? 3 

The consumption function of an economy is : C = 40 + 0·8 Y (amount in 

< crores). Determine that level of income where average propensity to 

consume will be one.  

OR 

Which of the two, average propensity to consume or average propensity 

to save, can be negative and why ? 
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18. àË`m{eV ~MV Ho$ àË`m{eV {Zdoe go A{YH$ hmoZo na, AW©ì¶dñWm ‘| hmoZo dmbo 

g‘m¶moOZm| H$m dU©Z H$s{OE & 3 

Describe the adjustments that may take place in an economy when  

ex-ante savings are greater than ex-ante investments. 

19. dmñV{dH$ gH$b Kaoby CËnmX {H$g àH$ma ‘m¡{ÐH$ gH$b Kaoby CËnmX go {^Þ h¡ ? EH$ 

g§»¶mË‘H$ CXmhaU g{hV ì¶m»¶m H$s{OE & 4 

How is Real Gross Domestic Product (GDP) different from Nominal 

Gross Domestic Product (GDP) ? Explain using a numerical example. 

20. AW©ì¶dñWm ‘| {H$g àH$ma gaH$ma ~OQ>r¶ Zr{V H$m à¶moJ H$aHo$ Am¶ H$s Ag‘mZVm H$mo 

H$‘ H$a gH$Vr h¡ ? g‘PmBE & 4 

AWdm 

 AW©ì¶dñWm ‘| ‘‘g§gmYZm| Ho$ Am~§Q>Z’’ H$mo à^m{dV H$aZo ‘| gaH$mar ~OQ> H$s ^y{‘H$m H$s 
g§jon _| MMm© H$s{OE & 4 

Explain how the government can use the budgetary policy in reducing 

inequality of income in the economy. 

OR 

Discuss briefly the role of the government budget in influencing 

‘‘allocation of resources’’ in the economy. 

 

21. EH$ H$mën{ZH$ g§»¶mË‘H$ CXmhaU H$m à¶moJ H$aVo hþE, ~¢qH$J àUmbr H$s gmI g¥OZ 
à{H«$¶m H$s g§jon ‘| MMm© H$s{OE & 4 

Discuss briefly the credit creation process of the banking system, using a 

hypothetical numerical example. 
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22. (H$) CËnmXZ Ho$ ‘yë¶ H$mo n[a^m{fV H$s{OE & ¶h ‘yë¶ dY©Z go {H$g àH$ma {^Þ h¡ ?  

(I) {ZåZ{b{IV Am§H$‹S>m| go ‘‘ñd-{Z`mo{OV H$s {‘{lV Am¶’’ Ho$ ‘yë¶ H$s JUZm 
H$s{OE : 3+3  

H«$.g§. {ddaU 
  am{e  

(< H$amo‹S> ‘|) 

(i) H$‘©Mm[a¶m| H$m nm[al{‘H$ 17,300 

(ii) ã¶mO 1,200 

(iii) pñWa ny±Or H$m Cn^moJ 1,100 

(iv) ñd-{Z`mo{OV H$s {‘{lV Am¶ ? 

(v) CnXmZ 750 

(vi) ~mµOma H$s‘V na gH$b Kaoby CËnmX 27,500 

(vii) AàË¶j H$a 2,100 

(viii) bm^ 1,800 

(ix) {H$am¶m 2,000 

(a) Define ‘value of output’. How is it different from ‘value addition’ ? 

(b) Calculate the value of ‘‘Mixed Income of Self-Employed’’ from the 

following data : 

S. No. Particulars 
 Amount  

(< in crores) 

(i) Compensation of Employees 17,300 

(ii) Interest 1,200 

(iii) Consumption of Fixed Capital 1,100 

(iv) Mixed Income of Self-Employed ? 

(v) Subsidies 750 

(vi) Gross Domestic Product at Market Price 27,500 

(vii) Indirect Taxes 2,100 

(viii) Profits 1,800 

(ix) Rent 2,000 
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23. (H$) {dXoer ‘wÐm Ho$ AÝVdm©h Ho$ {bE CÎmaXm¶r {H$Ýht Xmo H$maH$m| H$m C„oI H$s{OE &  

(I) {ZåZ{b{IV boZ-XoZ ny±Or ImVo/Mmby ImVo Ho$ {H$g nj ‘| {bIo OmE±Jo VWm ³¶m| : 

 (i) Zonmb go àmßV G$U na ã¶mO 

 (ii) MrZ go ‘mo~mBb ’$moZm| H$m Am¶mV   2+4 

AWdm 

 (H$) ^wJVmZ g§VwbZ ImVo ‘| ñdm¶Îm boZ-XoZ VWm g_§OZ boZ-XoZ Ho$ ~rM A§Va ñnîQ>  

H$s{OE &  

(I) ‘wÐm ‘| ‘yë¶õmg VWm _wÐm _| Ad‘yë¶Z ‘| A§Va ñnîQ> H$s{OE & 4+2 

(a) State any two factors responsible for inflow of foreign currency. 

(b) State on which side of capital account/current account will the 

following transactions be recorded and why : 

 (i) Interest on loan received from Nepal 

 (ii) Import of mobile phones from China 

 OR 

(a) Distinguish between Autonomous and Accommodating 

transactions of Balance of Payments account. 

(b) Distinguish between depreciation of a currency and devaluation of 

a currency.  
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24. H$sÝg Ho$ amoµOJma {gÕm§V ‘| ‘‘à^mdr ‘m±J {gÕm§V’’ H$m ³¶m AW© h¡ ? AZwgyMr AWdm {MÌ 

H$s ghm¶Vm go MMm© H$s{OE &  6 

What is meant by the ‘‘Effective Demand Principle’’ in Keynesian theory 

of employment ? Discuss using a schedule or a diagram. 
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gm_mÝ` {ZX}e : 

(i) XmoZm| IÊS>m| Ho$ g^r àíZ A{Zdm`© h¢ & 

(ii) àË`oH$ àíZ Ho$ {ZYm©[aV A§H$ CgHo$ gm_Zo {XE JE h¢ & 

(iii) àíZ g§»`m 1 – 4 VWm 13 – 16 A{V bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ H$m 1 A§H$ h¡ & 
BZH$m àË`oH$ H$m CÎma EH$ dmŠ` _| hr Ano{jV h¡ &   

(iv) àíZ g§»`m 5 – 6 Am¡a 17 – 18 bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 3 A§H$ h¢ & 
àË`oH$ H$m CÎma gm_mÝ`V… 60 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(v) àíZ g§»`m 7 – 9 Am¡a 19 – 21 ^r bKyÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 4 A§H$ h¢ & 
àË`oH$ H$m CÎma gm_mÝ`V… 70 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vi) àíZ g§»`m  10 – 12  Am¡a  22 – 24 XrK© CÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 6 A§H$ 
h¢ & àË`oH$ H$m CÎma gm_mÝ`V… 100 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vii) CÎma g§{jßV VWm VÏ`mË_H$ hmoZo Mm{hE VWm `Wmg§^d D$na Xr JB© eãX gr_m Ho$ A§VJ©V 
hr {XE OmZo Mm{hE & 

 

General Instructions : 

(i) All questions in both the sections are compulsory. 

(ii) Marks for questions are indicated against each question. 

(iii) Question Nos. 1 – 4 and 13 – 16 are very short-answer questions carrying 

1 mark each. They are required to be answered in one sentence each. 

(iv) Question Nos.  5 – 6  and  17 – 18  are  short-answer questions carrying  

3 marks each. Answers to them should normally not exceed 60 words 

each. 

(v) Question Nos. 7 – 9 and 19 – 21 are also short-answer questions carrying 

4 marks each.  Answers  to  them  should  normally  not  exceed 70 words 

each.  

(vi) Question  Nos.  10 – 12 and 22 – 24  are  long-answer  questions  

carrying 6 marks each. Answers to them should normally not exceed  

100 words each. 

(vii) Answers should be brief and to the point and the above word limits 

should be adhered to as far as possible. 



     

 58/5/3 3 P.T.O. 

IÊS> A 
(ì`{îQ> AW©emñÌ) 

SECTION A 

(MICROECONOMICS) 

1. n[adVu bmJV Ho$ H$moB© Xmo CXmhaU Xr{OE & 1 

                     AWdm 

 pñWa bmJV Ho$ H$moB© Xmo CXmhaU Xr{OE & 1 

State any two examples of variable cost. 

                         OR 

State any two examples of fixed cost. 

2. ¶{X gr‘m§V AmJ‘ dH«$, X-Aj Ho$ g‘m§Va h¡, Vmo dñVw H$s H$s‘V _________ hmoJr & 
(ghr {dH$ën H$m M`Z H$s{OE) 1 

(H$) gr‘m§V AmJ‘ Ho$ ~am~a 

(I) gr‘m§V AmJ‘ go A{YH$ 

(J) eyÝ¶ 

(K) gr‘m§V AmJ‘ go H$‘ 
If the Marginal Revenue curve is parallel to the X-axis, the price of the 

commodity would be ____________ . (Choose the correct alternative)   

(a) Equal to Marginal Revenue 

(b) More than Marginal Revenue 

(c) Zero 

(d) Less than Marginal Revenue 

3. {ZåZ{b{IV ‘| go H$m¡Z-gm A§V{Z©{hV bmJV H$m EH$ CXmhaU h¡ ? (ghr {dH$ën H$m M`Z 
H$s{OE)    1 

(H$) ‘µOXÿar H$m ^wJVmZ 

(I) H$ƒo ‘mb H$s bmJV 

(J) ‘m{bH$ H$s ny±Or na ã¶mO 

(K) Cn ẁ©³V ‘| go H$moB© Zht 
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Which of the following is an example of implicit cost ? (Choose the 

correct alternative) 

(a) Wages paid 

(b) Cost of Raw material  

(c) Interest on owner’s capital 

(d) None of the above 

4. {XE JE {MÌ ‘| X1Y1 Am¡a X2Y2 H«$‘e: Xmo {d{^Þ g‘¶md{Y T1 Am¡a T2 ‘| CËnmXZ 

g§^mdZm dH«$ h¢ & A1 Am¡a A2 H«$‘e: T1 Am¡a T2 g‘¶md{Y ‘| dmñV{dH$ CËnmXZ h¡ & 

P1 Am¡a P2 H«$‘e: T1 Am¡a T2 g‘¶md{Y ‘| g§^m{dV CËnmXZ h¢ &  

 

 

 XmoZm| g‘¶md{Y¶m| ‘| g§^m{dV CËnmXZ ‘| n[adV©Z _________ {IgH$md Ûmam àX{e©V 

{H$¶m Om gH$Vm h¡ & (ghr {dH$ën H$m M`Z H$s{OE) 1 

(H$) P2 go A2 

(I) A1 go A2 

(J) A2 go A1 

(K) P1 go P2  

AWdm 

 ¶{X gr‘m§V Adga bmJV (MOC) _________ hmo, Vmo CËnmXZ g§^mdZm dH«$ (PPC) 
‘yb-q~Xþ Ho$ CÎmb hmoJm & ([aº$ ñWmZ H$s ny{V© H$s{OE) 1 
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In the given figure X1Y1 and X2Y2 are Production Possibility Curves in 

two different time periods T1 and T2 respectively. A1 and A2 represent 

actual outputs in T1 and T2 periods respectively. P1 and P2 are potential 

outputs in T1 and T2 periods respectively.  

 

The change in potential production over the two periods would be 

represented by a shift from __________ . (Choose the correct alternative)  

(a) P2 to A2 

(b) A1 to A2 

(c) A2 to A1 

(d) P1 to P2 

OR 

A Production Possibility Curve (PPC) would be convex to the origin, if 

Marginal Opportunity Cost (MOC) is _________. (Fill up the blank) 

5. ì¶{³VJV ‘m±J AZwgyMr VWm ~mµOma ‘m±J AZwgyMr H$s AdYmaUmAm| H$mo g‘PmBE & 3 

Explain the concepts of individual demand schedule and market demand 

schedule. 

6. ‘‘¶{X g§gmYZm| Ho$ d¡H$pënH$ à¶moJ Z hm|, Vmo g§gmYZm| Ho$ Am~§Q>Z H$s g‘ñ¶m CËnÞ Zht 
hmoJr &’’ Cn¶w³V VH$m]$ Ho$ AmYma na H$WZ H$m g‘W©Z ¶m I§S>Z H$s{OE & 3 

AWdm 

 gH$mamË‘H$ AW©emñÌ d AmXe©H$ AW©emñÌ Ho$ AW© H$s Cn ẁº$ CXmhaUm| g{hV g§jon ‘| 
MMm© H$s{OE & 3 
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‘‘Problem of resource allocation would not arise, if resources do not have 

alternative uses.’’ Defend or refute the statement with valid arguments. 

OR 

Discuss briefly the meaning of positive economics and normative 

economics, with suitable examples. 

7. ‘m±J H$s H$s‘V bmoM H$m JwUm§H$ (–) 3 {X¶m J¶m h¡ & < 10 H$s H$s‘V na, EH$ Cn^mo³Vm 
{H$gr dñVw H$s 100 BH$mB¶m± H«$¶ H$aVr h¡ & ¶{X dñVw H$s H$s‘V 50% {Ja OmE, Vmo dh 

dñVw H$s {H$VZr BH$mB¶m± H«$¶ H$aoJr ? 4 

The coefficient of price elasticity of demand is given as (–) 3. At a price of 

< 10, a consumer buys 100 units of the commodity. How many units of 

the commodity will she buy if the price falls by 50% ? 

8. ‘mZ br{OE EH$ nyU© à{V¶moJr ~mµOma ‘| EH$ dñVw X Ho$ ‘m±J Am¡a ny{V© dH«$ h¢ :  

 Qd = 2200 – 3p, VWm  

 Qs = 1800 + 2p 

 dñVw X H$s g§VwbZ H$s‘V VWm g§VwbZ _mÌm Ho$ ‘yë¶m| H$m AmH$bZ H$s{OE & 4 

AWdm 

 EH$ dñVw H$m ~mµOma g§VwbZ ‘| h¡ & dñVw H$s ‘m±J ‘| {H$gr ^r n[adV©Z Ho$ {~Zm, dñVw H$s 
ny{V© ‘| H$‘r hmo OmVr h¡ &  

 {MÌ H$m à¶moJ H$aVo hþE, dñVw H$s g§VwbZ H$s‘V VWm g§VwbZ ‘mÌm na, {XE JE n[adV©Z 
Ho$ à^md H$s MMm© H$s{OE & 4 

Suppose the demand and supply curves of a commodity X, in a perfectly 

competitive market are given as : 

 Qd = 2200 – 3p, and  

 Qs = 1800 + 2p 

Estimate the values of equilibrium price and equilibrium quantity of the 

commodity X. 

   OR 
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The market for a commodity is in equilibrium. The supply of the 

commodity decreases, without any corresponding change in the demand 

for the commodity. 

Discuss, using diagram, the impact of the given change on the 

equilibrium price and equilibrium quantity of the commodity. 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m  8 ({dH$ën) Ho$ 

ñWmZ na h¡ :  

Note : The following question is for the Visually Impaired Candidates only, in 

lieu of Q. No. 8 (Alternative) :  

 EH$ dñVw H$m ~mµOma g§VwbZ ‘| h¡ & dñVw H$s ‘m±J ‘| {H$gr ^r n[adV©Z Ho$ {~Zm, dñVw H$s 

ny{V© ‘| H$‘r hmo OmVr h¡ & 

 dñVw H$s g§VwbZ H$s‘V VWm g§VwbZ ‘mÌm na, {XE JE n[adV©Z Ho$ à^md H$s MMm©  
H$s{OE & 4 

The market for a commodity is in equilibrium. The supply of the 

commodity decreases, without any corresponding change in the demand 

for the commodity. 

Discuss the impact of the given change on the equilibrium price and 

equilibrium quantity of the commodity. 

 

9. AënH$mbrZ gr‘m§V bmJV dH«$ ‘U-AmH$ma’ H$m ³¶m| hmoVm h¡ ? 4 

                            AWdm 

 ‘ny{V©’ Am¡a ‘ny{V© H$s ‘mÌm’ ‘| A§Va ñnîQ> H$s{OE & 4 

Why is the short-run marginal cost curve ‘U-shaped’ ? 

                                 OR 

Distinguish between ‘Supply’ and ‘Quantity Supplied’. 
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10. (H$) ‘‘nyU© à{V¶moJr ~mµOma ‘| EH$ ’$‘© H$s‘V ñdrH$maH$ hmoVr h¡, O~{H$ EH$m{YH$ma 
~mµOma ‘| ’$‘© H$s‘V {ZYm©aH$ hmoVr h¡ &’’ Cn¶w³V H$maUm| g{hV {XE JE H$WZ H$m 

g‘W©Z AWdm I§S>Z H$s{OE &  

(I) {~H«$s bmJV go ³¶m VmËn¶© h¡ ? 5, 1 

(a) ‘‘A firm under perfect competition is a price taker whereas under 

monopoly is a price maker.’’ Defend or refute the statement with 

valid reasons. 

(b) What is meant by selling cost ? 

11. EH$ H$maH$ Ho$ KQ>Vo à{V’$b H$m ³¶m AW© h¡ ? BgHo$ bmJy hmoZo Ho$ {H$Ýht Xmo H$maUm| H$s 
g§jon _| MMm© H$s{OE & 6 

What is meant by diminishing returns to a factor ? Discuss briefly, any 

two reasons behind its operation. 

12. (H$) AZ{Y‘mZ dH«$ H$s àdUVm ³¶m hmoVr h¡ ?  

 (I) EH$ {ddoH$erb Cn^mo³Vm Ho$db Xmo dñVwAm|, dñVw X Am¡a dñVw Y H$m Cn^moJ 
H$aVr h¡ & dñVwAm| H$s H$s‘V| H«$‘e: < 20 VWm < 10 h¢ & CgH$s Hw$b ‘m¡{ÐH$ 

Am¶ < 200 h¡ & Xr JB© gyMZm Ho$ AmYma na {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE : 

  (i) CgH$s ~OQ> aoIm H$m g‘rH$aU {b{IE & 

  (ii) Cn^moº$m H$s ~OQ> aoIm H$s àdUVm {b{IE & 

  (iii) ¶{X dh AnZr gånyU© Am¶, dñVw Y na IM© H$aZo H$m {ZíM¶ H$aVr h¡, 

Vmo dh dñVw Y H$s {H$VZr BH$mB¶m± H«$¶ H$a gH$Vr h¡ ? 2, 4 

AWdm 

 g‘-gr‘m§V Cn¶mo{JVm {Z`_ H$s MMm© H$s{OE & 6 
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(a) What is the slope of an Indifference curve ? 

(b) A rational consumer is consuming only two goods, Good X and 

Good Y. The prices of the goods are < 20 and < 10 respectively. 

Her total money income is < 200. Answer the following questions, 

using the given information : 

 (i) State her Budget line equation. 

 (ii) State the slope of the Budget line of the consumer.  

 (iii) If she decides to spend her entire income on Good Y, how 

many units of Good Y can she buy ? 

OR 

Discuss the law of equi-marginal utility. 

 

IÊS> ~ 

(g_{îQ> AW©emñÌ) 

SECTION B 

(MACROECONOMICS)     

13. àmW{‘H$ O‘mE± ³¶m hmoVr h¢ ? 1 

What are primary deposits ? 

14. ¶{X EH$ df© ‘| {H$gr AW©ì¶dñWm ‘| gaH$ma H$s AZw‘m{ZV àm{ßV¶m± AZw‘m{ZV ì`` go 

H$‘ h¢, Vmo ~OQ> _________ ~OQ> H$hbmVm h¡ & ([aº$ ñWmZ H$s ny{V© H$s{OE) 1 

If in an economy, the Estimated Receipts of the government during a 

year are lesser than the Estimated Expenditure, the budget would be 

called _________ budget. (Fill up the blank)  
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15. ¶{X d¡Ym{ZH$ Ama{jV AZwnmV 20% hmo, Vmo ‘wÐm JwUH$ H$m ‘yë¶ _________ hmoJm & 

(ghr {dH$ën H$m M`Z H$s{OE)  1 

(H$) 2 

(I) 3 

(J) 5 

(K) 4 

If legal reserve ratio is 20%, the value of money multiplier would  

be __________ . (Choose the correct alternative)  

(a) 2 

(b) 3 

(c) 5 

(d) 4 

16. gaH$mar ~OQ> ‘| {ZåZ{b{IV ‘| go H$m¡Z-gr EH$ ny±OrJV àm{ßV h¡ ? 1 

(H$) Am¶ H$a 

(I) ã¶mO àm{ßV 

(J) X {b{‘Q>oS> ({ZOr H$ånZr) H$mo EH$ gmd©O{ZH$ joÌ Ho$ CnH«$‘ (PSU) Ho$ eo¶am|  
 H$s {~H«$s 

(K) gmd©O{ZH$ joÌ Ho$ CnH«$‘ (PSU) go àmßV bm^m§e  

AWdm 

 µJ¡a-H$a AmJ‘ Ho$ {H$Ýht Xmo CXmhaUm| H$m C„oI H$s{OE & 1 

Which of the following is a capital receipt in the Government Budget ? 

(a) Income tax 

(b) Interest receipt 

(c) Sale of shares of a Public Sector Undertaking (PSU) to X Limited  

 (Private Company).   

(d) Dividends from a Public Sector Undertaking (PSU)   

OR 

State any two examples of non-tax revenue. 
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17. EH$ H$mën{ZH$ g§»¶mË‘H$ CXmhaU H$m à¶moJ H$aVo hþE, gr‘m§V ~MV àd¥{Îm VWm {Zdoe 

JwUH$ Ho$ ~rM g§~§Y H$s g§jon ‘| MMm© H$s{OE & 3 

   AWdm 

 {ZåZ{b{IV Ho$ AW© ~VmBE : 3 

(i) nyU© amoµOJma 

(ii) AZ¡pÀN>H$ ~oamoµOJmar 

Discuss briefly the relationship between marginal propensity to save 

and investment multiplier, using a hypothetical numerical example.  

   OR 

State the meaning of the following : 

(i) Full employment 

(ii) Involuntary unemployment 

18. g‘m¶moOZ V§Ì H$m dU©Z H$s{OE, ¶{X àË`m{eV (ex-ante) g‘J« ‘m±J, àË`m{eV 
(ex-ante) g‘J« ny{V© go H$‘ hmo & 3 

Describe the adjustment mechanism if ex-ante Aggregate Demand is 

lesser than ex-ante Aggregate Supply. 

19. ~VmBE {H$ {ZåZ{b{IV H$WZ ghr  h¢ AWdm µJbV  & AnZo CÎma H$m H$maU g{hV g‘W©Z 

H$s{OE & 2, 2 

(H$) H$amYmZ Am¶ H$s {df‘VmAm| H$mo H$‘ H$aZo H$m EH$ à^mdr CnH$aU hmoVm h¡ & 

(I) O~ gaH$ma {d{^Þ Xoem| H$mo {XE JE G$U H$mo dgyb H$aZo ‘| Ag’$b hmoVr h¡, Vmo 

amOñd KmQ>o ‘| d¥{Õ hmoVr h¡ & 
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State whether the following statements are true or false. Support your 

answer with reason. 

(a) Taxation is an effective tool to reduce the inequalities of income. 

(b) Revenue deficit increases when government fails to recover loans 

forwarded to different nations. 

20. {dXoem| go àmßV {Zdb gmYZ Am¶ VWm {Zdb {Z¶m©V ‘| A§Va ñnîQ> H$s{OE & 4 

AWdm 

 ‘µJ¡a-‘m¡{ÐH$ {d{Z‘¶’ ³¶m hmoVo h¢ ? Cn¶w³V CXmhaU Ûmam MMm© H$s{OE & 4  

Distinguish between net factor income from abroad and net exports. 

OR 

What are ‘non-monetary exchanges’ ? Discuss with suitable example. 

21. (H$) g_PmBE {H$g àH$ma ‘‘~¢H$ Xa’’ H$m à¶moJ H$aVo hþE Ho$ÝÐr¶ ~¢H$ {H$gr 

AW©ì¶dñWm ‘| _wÐm Amny{V© {Z¶§{ÌV H$a gH$Vm h¡ &   

(I) ‘aonmo Xa’ go ³¶m VmËn¶© h¡ ? 3, 1 

(a) Explain how using ‘‘Bank Rate’’ the Central Bank can regulate 

money supply in an economy. 

(b) What is meant by ‘Repo Rate’ ? 

22. (H$) Xmohar JUZm H$s g‘ñ¶m go ³¶m VmËn¶© h¡ ? Bggo ~Mmd Ho$ {bE Xmo ÑpîQ>H$moUm| H$s 

g§jon ‘| MMm© H$s{OE &  

(I) ‘n±yOrJV dñVwAm|’ H$mo n[a^m{fV H$s{OE &  5, 1 

 
AWdm 
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 {XE JE {ZåZ{b{IV Am±H$‹S>m| go, ‘àMmbZ A{Yeof’ VWm ‘{Zdb {Z¶m©V’ Ho$ ‘yë¶m| H$s 

JUZm H$s{OE : 6 

 

H«$.g§. {ddaU 
am{e 

(< H$amo‹S> _|) 

(i) ‘µOXÿar d doVZ 2,400 

(ii) amîQ´>r¶ Am¶ 4,200 

(iii) {Zdb {Z¶m©V    ? 

(iv) {dXoem| go àmßV ewÕ gmYZ Am¶    200 

(v) gH$b Kaoby ny±Or {Z‘m©U 1,100 

(vi) ñd-{Z`mo{OV H$s {‘{lV Am¶    400 

(vii) {ZOr A§{V‘ Cn^moJ ì¶¶ 2,000 

(viii) ewÕ AàË¶j H$a    150 

(ix) àMmbZ A{Yeof    ? 

(x) gaH$mar A§{V‘ Cn^moJ ì¶¶ 1,000 

(xi) pñWa ny±Or H$m Cn^moJ    100 

(xii) bm^     500 
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(a) What is meant by the problem of double counting ? Discuss briefly 

the two approaches to avoid this problem. 

(b) Define ‘Capital goods’. 

OR 

Given the following data, find the values of ‘Operating Surplus’ and ‘Net 

Exports’ :  

S. No. Particulars 
Amount 

(in < crores) 

(i) Wages and Salaries 2,400 

(ii) National Income 4,200 

(iii) Net Exports     ? 

(iv) Net Factor Income from Abroad   200 

(v) Gross Domestic Capital Formation 1,100 

(vi) Mixed Income of Self-Employed    400 

(vii) Private Final Consumption Expenditure 2,000 

(viii) Net Indirect Taxes     150 

(ix) Operating Surplus ? 

(x) Government Final Consumption Expenditure 1,000 

(xi) Consumption of Fixed Capital     100 

(xii) Profits     500 
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23. EH$ AW©ì¶dñWm H$m ~MV ’$bZ {X¶m J¶m h¡ : 

 S = (–) 50 + 0·10 Y. 

 ¶{X àË`m{eV (ex-ante) {Zdoe < 450 H$amo‹S> h¢, Vmo {ZåZ{b{IV H$s JUZm H$s{OE : 6 

(i) AW©ì¶dñWm ‘| Am¶ H$m g§VwbZ ñVa &  

(ii) < 3,000 H$amo‹S> H$s A{V[a³V Am¶ àmßV H$aZo Ho$ {bE Amdí¶H$ A{V[a³V  

 {Zdoe &  

The saving function of an economy is given as : 

 S = (–) 50 + 0·10 Y. 

If the ex-ante Investments are < 450 crores, calculate the following : 

(i) Equilibrium level of income in the economy. 

(ii) Additional investments which will be needed to gain an additional 

income level of < 3,000 crores. 

24. {ZåZ{b{IV Ho$ AW© {b{IE : 2, 2, 2 

(i) pñWa {dXoer {d{Z‘¶ Xa 

(ii) ì¶mnma A{Yeof 

(iii) g‘§OZ boZXoZ 

State the meaning of the following : 

(i) Fixed Foreign Exchange Rate 

(ii) Trade Surplus 

(iii) Accommodating Transactions 
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